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gm‘mÝ¶ {dkmZ  : dZñnVremó

1) dZñnVtMo dJuH$aU Am{U CXmhaUo,  dZñnVtMo earaemó
2) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr
3) H¥$fr{dkmZ, dZemó d n¶m©daU, ’$bmoËnmXZ Am{U ’w$beoVr

dZñnVtMo dJuH$aU Am{U CXmhaUo, dZñnVtMo earaemó

1) dZñnVr noer
2) dZñnVtMo dJuH$aU
3) Anwîn dZñnVr - W°bmo’$mBQ>, ~«m¶mo’$mBQ>, Q>o[aS>mo’$mBQ>
4) gnwîn dZñnVr - AàH$Q>~rOr, àH$Q>~rOr
5) dZñnVtMo earaemó
6) dZñnVtMo nmofU - IVo
7) dZñnVtMo  M¶mnM¶Z
8) dZñnVtMo AmOma - {nH$mdarb amoJ, H$sS> d VUZmeHo$

Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr

9) Cn ẁº$  dZñnVr, dZñnVrOÝ¶  agm¶Zo
10) Am¡fYr dZñnVr, dZñnVrOÝ¶ Am¡fYo
11) Zm¶Q́>moOZ pñWarH$aU
12) {dfmar Am{U hm{ZH$maH$ dZñnVr

H¥$fr{dkmZ, dZemó d n¶m©daU, ’$bmoËnmXZ Am{U ’w$beoVr

13) eoVr{dkmZ - A°J«moBH$mobm°Or - g|{Ð` eoVr d  H¥$frì¶dñWmnZ
14) ‘¥Xm{dkmZ - ŷg§YmaU d ‘emJV V§ÌkmZ
15) qgMZemó- Obg§YmaU d nmUr ì`dñWmnZ
16) nrH${dkmZ - nrH$m§Mr dmT>, nmofU, VUo,
17) {nHo$ Am{U g§H$[aV OmVr
18) ’$bmoËnmXZ Am{U ’w$beoVr
19) dZemó , dZì¶dñWmnZ
20) n¶m©daU
21)  H¥$frg§b¾ joÌ   -  H¥$frà{H«$¶m, newnmbZ d Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ, ‘Ëñ¶ì¶dgm¶
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dZñnVremó

1) dZñnVr noer
2) dZñnVtMo dJuH$aU
3) Anwîn dZñnVr - W°bmo’$mBQ>, ~«m¶mo’$mBQ>, Q>o[aS>mo’$mBQ>
4) gnwîn dZñnVr - AàH$Q>~rOr, àH$Q>~rOr
5) dZñnVtMo earaemó
6) dZñnVtMo nmofU - IVo
7) dZñnVtMo  M¶mnM¶Z
8) dZñnVtMo AmOma - {nH$mdarb amoJ, H$sS> d VUZmeHo$
9) Cn ẁº$  dZñnVr, dZñnVrOÝ¶  agm¶Zo
10) Am¡fYr dZñnVr, dZñnVrOÝ¶ Am¡fYo
11) Zm¶Q́>moOZ pñWarH$aU
12) {dfmar Am{U hm{ZH$maH$ dZñnVr
13) eoVr{dkmZ - A°J«moBH$mobm°Or - g|{Ð` eoVr d  H¥$frì¶dñWmnZ
14) ‘¥Xm{dkmZ - ŷg§YmaU d ‘emJV V§ÌkmZ
15) qgMZemó- Obg§YmaU d nmUr ì`dñWmnZ
16) nrH${dkmZ - nrH$m§Mr dmT>, nmofU, VUo,
17) {nHo$ Am{U g§H$[aV OmVr
18) ’$bmoËnmXZ Am{U ’w$beoVr
19) dZemó , dZì¶dñWmnZ
20) n¶m©daU
21)  H¥$frg§b¾ joÌ   -  H¥$frà{H«$¶m, newnmbZ d Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ, ‘Ëñ¶ì¶dgm¶
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dZñnVremó
1) dZñnVtMo dJuH$aU Am{U CXmhaUo,  dZñnVtMo earaemó
2) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr
3) H¥$fr{dkmZ, dZemó d n¶m©daU, ’$bmoËnmXZ Am{U ’w$beoVr

dZñnVtMo dJuH$aU Am{U CXmhaUo, dZñnVtMo earaemó

1) dZñnVtMo dJuH$aU
2) Anwîn dZñnVr - W°bmo’$mBQ>, ~«m¶mo’$mBQ>, Q>o[aS>mo’$mBQ>
3) gnwîn dZñnVr - AàH$Q>~rOr, àH$Q>~rOr
4) dZñnVtMo earaemó
5) dZñnVtMo nmofU
6) dZñnVtMo  M¶mnM¶Z
7) dZñnVtMo AmOma

Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr

1) Cn ẁº$  dZñnVr, dZñnVrOÝ¶  agm¶Zo
2) Am¡fYr dZñnVr, dZñnVrOÝ¶ Am¡fYo
3) Zm¶Q́>moOZ pñWarH$aU
4) {dfmar Am{U hm{ZH$maH$ dZñnVr

H¥$fr{dkmZ, dZemó d n¶m©daU, ’$bmoËnmXZ Am{U ’w$beoVr

1) eoVr{dkmZ - A°J«moBH$mobm°Or - g|{Ð` eoVr d  H¥$frì¶dñWmnZ
2) ‘¥Xm{dkmZ - ŷg§YmaU d ‘emJV V§ÌkmZ
3) qgMZemó- Obg§YmaU d nmUr ì`dñWmnZ
4) nrH${dkmZ- nrH$m§Mr dmT>, nmofU, VUo, IVo, H$sQ>H$ZmeHo$
5) {nHo$ Am{U g§H$[aV OmVr
6) ’$bmoËnmXZ Am{U ’w$beoVr
7) dZemó , dZì¶dñWmnZ
8) n¶m©daU
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‘hmamḯ> AamOn{ÌV JQ>-~ d JQ>-H$  godm g§¶wº$ nyd© narjm

g{dñVa Aä¶mgH«$‘ : 100 ‘hÎdmMo ‘wÔo

1) AmYw{ZH$ ^maVmMm {deofV… ‘hmamḯ>mMm B{Vhmg (15)
1) B©ñQ> B§{S>¶m H§$nZr Am{U A±½bmo-^maV  ẁÕo
2) {~«{Q>e àemgZ - JìhZ©a OZaëg Am{U ìhmB©gam°̀ m§Mr ŷ{‘H$m
3) {~«{Q>e amOdQ>rVrb KQ>ZmË‘H$ gwYmaUm, H$m`Xo, Am¶moJ , g{‘Ë¶m d H$ama
4) AmYw{ZH$ ^maVmVrb gm‘m{OH$, Ym{‘©H$ gwYmaUm d g§KQ>Zm
5) {~«{Q>e ^maVmVrb {ejU, d¥ÎmnÌo Am{U boIH$
6) {~«{Q>e amOdQ>rMm Am{W©H$ n[aUm‘
7) ^maVr¶ amï´>dmXmMm CX`, ‘hÎdmMo ZoVo Am{U amOH$s` g§KQ>Zm
8) H«$m§{VH$maH$ g§KQ>Zm d amï´>dmX
9) H$m±J«og nj - g§ñWmnH$, A{YdoeZo, R>amd
10) ñdmV§Í¶ Midi - ñdXoer, Agh`moJ, g{dZ` H$m`Xô §J, ^maV N>moS>mo
11) eoVH$ar Am§XmobZ Am{U H¥$fr gwYmaUm
12) H$m‘Jma Midir Am{U H$m‘Jma g§KQ>Zm
13) ‘wpñb‘ brJ Am{U ’$miUr
14) ñdmV§Í¶moÎma ^maV
15) g§̀ wº$ ‘hmamï´> Midi

History of Modern India especially of Maharashtra (15)

1) Europeans & Anglo - British Wars

2) British Administration - Role of GGs & viceroys

3) Constitutional and reform Acts, laws during British Rule

4) Sociorelegious reforms

5) Education & Press

6) Economic Impact of British rule

7) Rise of nationalism & political organisations

8) Militant Nationalism

9) Congress Party - Founders, Sessions, Resolutions

10) Freedom movement - Congress, Swadeshi, Noncoopeartion, Civil Disobedience, Quit India

11) Farmers agitation and agricultural reforms

12) Labour movements & Trade Unions

13) Muslim League & partition

14) Independence & related issues

15) Samyukt Maharashtra Movement
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(2) ŷJmoc - ‘hmamḯ>mÀ¶m ŷJmocmÀ¶m {deof Aä¶mgmgh (15)
* n¥Ïdr, OJmVrc {d^mJ, hdm‘mZ, Ajm§e-aoIm§e,  ‘hmamḯ>mVrc O{‘ZrMo àH$ma, nO©Ý¶‘mZ, à‘wI {nHo$, ehao, ZÚm,

CÚmoJY§Xo BË¶mXr.
16) n¥Ïdr - gỳ ©‘mbm
17) Ajm§e Am{U aoIm§e - à‘mU Am{U ñWm{ZH$ doi
18) ŷH§$n Am{U Ádmbm‘wIr, IS>H$, ^m¡Jmo{bH$ d¡{eï²> ò
19) OmJ{VH$ {d^mJ - nd©V, ZÚm
20) hdm‘mZ - dmVmdaU, dmao Am{U ‘hmgmJa àdmh
21) nO©Ý¶‘mZ - ‘mÝgyZ, {dVaU, ‘hmnya, Adf©U
22) ZÚm - YaUo Am{U àH$ën
23) ^m¡{VH$ ŷJmob - nd©V, nR>ma, dmid§Q>, {H$ZmanÅ>r, ~oQ>o
24) dZo Am{U dZñnVr - n`m©daU
25) ‘hmamï´>mVrb O{‘ZrMo àH$ma
26) à‘wI {nHo$ - eoVr
27) Am{W©H$ ŷJmob - I{ZOo Am{U D$Om© g§gmYZo
28) CÚmoJ Am{U ì¶mnma
29) ehao, dmhVyH$ Am{U n ©̀Q>Z
30) amOH$s` ŷJmob - bmoH$g§»`m, ^mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m

Geography with special study of Geography of Maharashtra (15)

16) Earth - Solar System

17) Latitude and longitude -  Standard & Local Time

18) Earthquakes & Volcanoes, Rocks, Geographical Features

19) World divisions - Mountains, Rivers

20) Climate - Atmosphere, Winds & Ocean Currents

21) Rainfall  - Monsoon, distribution, floods & drought

22) Rivers - dams & projects

23) Physical geography - Mountains, Planes, Plateau, Desert, Coastal areas, Islands

24) Forestry - Vegetation & Environment

25) Soil types in Maharashtra

26) Major crops - Agriculture

27) Economic Geography - Minerals and Energy Resources

28) Industries  and trade

29) Cities, Transport & Tourism

30) Political Geography - Population, Languages, Tribes and Races, Locations & Boundaries

(3) ZmJ[aH$emó (10)
31) ^maVmÀ¶m KQ>ZoMm àmW{‘H$ Aä¶mg - g§{dYmZ g^m, òmoV, g{‘Ë`m, {MÝho
32) g§{dYmZmMr àñVmdZm, R>iH$ Am{U ‘yb ŷV d¡{eï²> ò, ‘hÎdmMr H$b‘o
33) E’$Ama, S>rnr, E’$S>r
34) KQ>ZmXþéñVr, Am`moJ Am{U ‘§S>io
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35) H|$Ð - amÁ` g§~§Y, ZdrZ amÁ ò
36) Ý`m`nm{bH$m Am{U ^maVr` g§K
37) amÁ¶ ì¶dñWmnZ (àemgZ)- amÁ` gaH$ma Am{U àemgZ - H$m ©̀H$mar ¶§ÌUm, {d{Y‘§S>i
38) J«m‘ ì¶dñWmnZ (àemgZ) - n§Mm¶V amOMr CËH«$m§Vr, 73dr Am{U 74dr XwéñVr
39) J«m‘n§Mm`V, VmbwH$m n§Mm`V, {Oëhm n[afX Am{U J«m‘{dH$mg
40) {Oëhm àemgZ

Civics (10)

31) Constituent Assembly, Sources, Committees, Symbols

32) Preamble, Salient & Basic features, articles

33) FRs, DPs, FDs

34) Amendments,Commissions and Boards

35) Centre - State relations, New States

36) Judiciary & Indian Union

37) State Government and Administration -  Executive,  Legislature

38) Evolution of LSG, 73rd & 74th Amendment

39) Grampanchayat, Taluka Panchayat, Zilla Parishad & Rural development

40) District Administration

(4) AW©ì¶dñWm (15)
* ^maVr¶ AW©ì¶dñWm-amï´>r¶ CËnÞ, eoVr, CÚmoJ,  naH$s¶ ì¶mnma, ~±qH$J, cmoH$g§»¶m,  Xm[aÐç d ~oamoOJmar, ‘wÐm

Am{U amOH$mofr¶ ZrVr,  emgH$s¶ AW©ì¶dñWm-AW©g§H$ën, coIm, coImnarjU
41) amï´>r` CËnÞ - OrìhrE, OrS>rnr, joÌr` dmT>
42) ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU
43) H¥$fr - J«m‘rU {dH$mg Am{U ghH$ma joÌ
44) CÚmoJ - nm`m ŷV gw{dYm Am{U godm joÌ
45) Am{W©H$ gwYmaUm  -  OmJ{VH$sH$aU, CXmarH$aU d ImOJrH$aU, EgS>rOr
46) {dXoer ì`mnma - AmH$ma‘mZ, {Xem Am{U aMZm
47) ~±qH$J - MbZ nwadR>m, H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr
48) bmoH$g§»`m - bmoH$g§»`m MH«$, bmoH$g§»`m YmoaU
49) J[a~r d ~oamoOJmar - g§H$ënZm, ‘moO‘mn, Xm[aX²Œ¶ {Z‘y©bZ H$m ©̀H«$‘, ~oamoOJmarMo  àH$ma d  amoOJma {Z{‘©Vr H$m ©̀H«$‘
50) gm‘m{OH$ joÌ - g~brH$aU d {dH$mg ¶moOZm, EgS>rOr
51) {dH$mg H$m ©̀H«$‘ - ‘{hbm, ‘wbo, Á òð> ZmJ[aH$ `m§À`m g§X^m©V
52) Am{W©H$ Am{U {dÎmr` YmoaUo - H$a ‘hgyb
53) AW©g§H$ën
54) gmd©O{ZH$ IM©
55) boIm Am{U boImnarjU

Economy - Indian Economy & Government Economy (15)
41) National Income - GDP, GVA

42) Inflation - causes, effects, control, measures

43) Agriculture -  Rural Development  & Co-operative sector

44) Industry -  Infrastructure and Services Sector
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45) Economic reforms  - Sectoral  growth,  MDG, SDG, Macro Economics

46) Foreign Trade - Volume, direction & structure

47) Banking - Credit and Monitory policies

48) Population - Demographic cycle, Population Policies

49) Poverty & Unemployment - Concepts, Measurement and estimates of poverty, Poverty  Allevia-

tion programs, Employment - Types and  Generation programs

50) Social Security Sector - empowerment, SDG, MDG, HDI

51) Development Programs -  with respect to women, children, senior citzens

52) Monetary and Fiscal Policies - Taxes

53) Budget

54) Public Expenditure

55) Accounts & Audit

(5) gm‘mÝ¶ {dkmZ (15)
*  ̂ m¡{VH$emó ({’${O³g)

56) JVremó, CîUVm
57) bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
58) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ, IJmobemó Am{U A§Vami {dkmZ

*  agm¶Zemó (Ho${‘ñQ´>r)
59) AmdV© gmaUr -‘ybÐì¶o d AUwaMZm
60) X¡Z§{XZ dmnamVrb g§̀ wJo -YmVy , AYmVy , jma, B§YZo, dm ỳ, IVo
61) amgm`{ZH$ A{^{H«$`m - Amåb, g|{Ð` agm`Zemó - hm`ŚmoH$m~©Ýg

*  àm{Uemó (Pycm°Or)
62) noer{dkmZ d M¶mnM¶Z
63) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
64) Cn ẁº$ Am{U hmZrH$maH$ àmUr - newnmbZ, Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ

*  dZñn{Vemó (~m°Q>Zr)
65) dZñnVtMo dJuH$aU Am{U CXmhaUo
66) H¥$fr{dkmZ d dZemó
67) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr - ’$bmoËnmXZ Am{U ’w$beoVr

*  Amamo½¶emó (hm¶OrZ)
68) ‘mZdr eara àUmbr - MoVmg§ñWm, aº$m{^gaU, nMZ d CËgO©Z g§ñWm, ñZm¶y d AñWr
69) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U H$m ©̀H«$‘
70) AÞ Am{U nmofU - ‘°H«$mo d gyú‘ nmofU Ðì¶o, OrdZgÎdo

General Science (15)

56) Dynamics, Heat

57) Waves - Light, Sound, EM spectrum

58) Electricity, Magnetism, Nuclear science, Astronomy & Space science

59) Periodic Table - Elements, Mixtures

60) Substances of day to day use -  metals & nonmetals,  insecticides, Fuels, Gases, Fertilisers

61) Chemical reactions - acids, bases,  Organic chemistry - hydrocarbons,

62) Cell and metabolism
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63) Classification of animals and examples,  Anatomy and Physiology wrt animal body

64) Useful and Harmful  animals -Animal Husbandry, Dairy, Poultry

65) Classification of plants and examples  - Anatomy and Physiology wrt plants

66) Agriculture and Forestry

67) Useful and Harmful plants - Horticulture and floriculture

68) Human body system - CNS, CVS, GIT,  Musculoskeletal, endocrine, Excretory

69) Health & Diseases - Vectors, agents, diagnosis , treatmet & programs

70) Food and Nutrition -Macro, micro, minerals, vitamins

(6) Mmcy KS>m‘moS>r  OmJ{VH$ VgoM ^maVmVrc (15)
*  amOH$s¶ KQ>Zm

71) OmJ{VH$ g§KQ>Zm, Am§Vaamï´>r¶ g§~§Y, ‘mZdr h¸$ {df¶H$ KQ>Zm, g§ajU{df¶H$ KQ>Zm
72) amï´>r¶ amOH$s¶ KQ>Zm - {ZdS>UwH$m, àemgZ, Ý¶m¶mb¶rZ {ZH$mb, Am¶moJ, H$m¶Xo d KQ>ZmXþéñË¶m, Am§XmobZo

*  Am{W©H$ d {dÎmr¶ KQ>Zm
73) OmJ{VH$ ñVamdarb Am{W©H$ KS>m‘moS>r, {dXoer ì¶mnma, CÚmoJ wa nm¶m ŷV joÌmVrb KQ>Zm
74) AW©g§H$ën d gmd©O{ZH$ {dÎm, ~±qH$J d d {dÎm, H¥$fr d J«m‘rU {dH$mg, Xm[aX²Œ¶ d ~oH$mar

*  d¡km{ZH$ KQ>Zm
75) D$Om© V§ÌkmZ d AmpÊdH$ àH$ën,Amm¶grQ>r, AdH$me{dkmZ
76) d¡km{ZH$ g§ñWm d g§emoYH , O¡dV§ÌkmZ, amoJ{dkmZ $

*  gm‘m{OH$  d e¡j{UH$ KQ>Zm
77) gm‘m{OH$ gwajoMo CnH«$‘ d nwT>mH$ma, gd©g‘mdoeH$Vm
78) e¡j{UH$ d Amamo½¶ joÌmVrb KQ>Zm, amoOJma {Z{‘©Vr d H$m¡eë¶ {dH$mg
79) ^m¡Jmo{bH$ d n¶m©daU{df¶H$ KQ>Zm - àH$mePmoVmVrb ñWio, amOH$s¶ ŷJmob, n¶m©daU n[afXm, g§dY©Z, H$m¶Xo,

AmnÎmrì¶dñWmnZ
80) Zo‘UwH$m,  {Z¶wº$s  d àH$mePmoVmVrb ì¶º$s
81) nm[aVmo{fH$, nwañH$ma  d ~hþ‘mZ
82) H«$sS>m{df¶H$ KQ>Zm  - H«$sS>m ñnYm©, IoimSy>§Mr H$m‘{Jar, nwañH$ma d gÝ‘mZ, àH$mePmoVmVrb IoimSy> d à{ejH$
83) gm§ñH¥${VH$  d  n¶©Q>Z KQ>Zm  - g§JrV d Z¥Ë¶, {MÌnQ>, ¶mÌm, g§ñWm d ñ‘maHo$
84) gm{hpË¶H$  KQ>Zm -àH$mePmoVmVrb nwñVHo$ d boIH$, _amR>r gm{hË` g§_ocZ d BVa CnH«$‘
85) gm‘mÝ¶kmZ - ‘hÎdmMo {Xdg d df©, gd©àW‘, gdm©V ‘moR>o/N>moQ>o, Eo{Vhm{gH$ KQ>ZmH«$‘

Current Affairs (15)
* Political events

71) World Organization, International Relations, Human Rights Events, Defense Events

72) National Political Events - Elections, Administration, Judicial Results, Commissions, Laws and

Amendments, Agitations

* Economic and financial events

73) Global economic developments, foreign trade, industry and infrastructure developments

74) Budget & Public Finance, Banking & Finance, Agriculture & Rural Development, Poverty &

Unemployment

* Current events wrt Science & Technology

75) Energy Technology and Nuclear Projects, ICT, Space Science

76) Scientific institutes and researchers, biotechnology, pathology
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* Social and educational events

77) Social security initiatives and inclusiveness

78) Events in education and health sector, job creation and skill development

79) Geographical and Environmental Events - Lights, Political Geography, Environmental Councils,

Conservation, Laws, Disaster Management

80) Appointment, appointment and person in the spotlight

81) Prizes, awards and honors

82) Sports Events - Sports Competitions, Athletes Performance, Awards & Honors, Light Players &

Coaches

83) Cultural and Tourism Events - music and dance, movies, travel, institutions and monuments

84) Literary Events - Books and Writers, Marathi Sahitya Sammelan and other activities

85) General Knowledge - Important days and years, the biggest / smallest, historical events

(7) ~w{Õ‘mnZ MmMUr d A§H$J{UV
* ~w{Õ‘mnZ MmMUr -

86) g§»¶m Am{U dU©‘m{bH$m
87) gm§Ho${VH$ ^mfm, gmå¶, VwbZm, dJuH$aU
88) ‘erZ BZnwQ  Am{U {MÝho, J{UVr` VH©$, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
89) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
90) ~¡R>H$ d ‘m§S>Ur ì`dñWm
91)  ZmVog§~§Y
92) AmH¥$Ë`m§darb àíZ, KZmdarb àíZ

* A§H$J{UV -
93) g§»`màUmbr - bgm{d, ‘gm{d, dJ©‘yi Am{U KZ‘yi
94) ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma, Xem§e AnyUmªH$
95)  Q> o̧$dmar, ^mJrXmar, gamgar, g§̂ mì`Vm
96) JwUmoÎma Am{U à‘mU, {‘lU, gmIir {Z`‘
97) doi Am{U A§Va,aoëdo, ~moQ> Am{U Obàdmh, H$mi Am{U H$m‘
98) Z’$m Am{U VmoQ>m, {dH«$s Am{U IaoXr, gmYo Am{U MH«$dmT> ì`mO
99) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
100) KS>çmi, H°$b|S>a, d`, {Xem{ZX}e, doZ AmH¥$Ë`m§darb g‘ñ`m

7) Mental Ability test and Arithmetic (15)

General Mental Ability (7)

86) Sequence and series

87) Coding-decoding, Analogy, Comparisons, Classifications

88) Machine input & Symbols

89) Syllogism, Judgements, Drawing inference, Statements - Arguments and Conclusion

90) Sitting arrangement

91) Blood relations, Ranking Test, Comparison

92) Qs on figures

1) Construction of squares and triangles

2) Series
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3) Completion of incomplete pattern

4) Analogy, Group of Identical Figures

5) Classification, Odd figures or Odd man out

6) Mirror-image, Water-image

7) Paper folding, Paper cutting, Dot situation

8) Spotting out the embedded figures

9) Cubes and dice

10) Figure matrix

Arithmatics (8)

93) Number system - HCF and LCM, Square roots and cube roots, Surd and indices

94) Addition, Substarction, Multiplication, Division and Simplification, Decimal Fractions

95) Percentage, Partnership & investment, Average , Probability, Permutation Combination

96) Ratio and Proportion, Mixtures &Alligation, Chain Rule

97) Time and Distance, Trains, Boat and Stream, Time and Work, Pipe & Cistern

98) Profit and Losses,  Sale & purchase, Discount , Simple and Compound Interest

99) Mensuration & Geometry - Areas, Volume and Surface Areas

100) Problems on Clock, Calendars,  Ages,  Directions, Locations and Positions, Venn diagrams
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‘hmamḯ> cmoH$godm Am¶moJ

‘hmamḯ> amOn{ÌV ZmJar godm nyd©narjm : gm‘mÝ¶ AÜ¶¶Z nona (1)

 gm‘mÝ` {dkmZ ‘hÎdmMo  ‘wÔo

* ̂ m¡{VH$emó -
1) JVremó, CîUVm
2) bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
3) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ - {H$aUmoËgm[aVm, IJmobemó

* agm¶Zemó -
4) AmdV© gmaUr - ‘ybÐì¶o d AUwaMZm
5) X¡Z§{XZ dmnamVrb g§̀ wJo - YmVy , AYmVy , jma, B§YZo, dm ỳ, IVo
6) amgm`{ZH$ A{^{H«$`m - Amåb, AëH$br , g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$

* Ordemó -
7) noer{dkmZ d M¶mnM¶Z, O¡dV§ÌkmZ
8) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
9) Cn ẁº$ Am{U hmZrH$maH$ àmUr - newnmbZ, Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ

* dZñnVremó -
10) dZñnVtMo dJuH$aU Am{U CXmhaUo
11) H¥$fr{dkmZ, dZemó d n¶m©daU
12) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr - ’$bmoËnmXZ Am{U ’w$beoVr

* ‘mZdr Ordemó, Amamo½¶ Am{U Amhma{dkmZ -
13) ‘mZdr eara àUmbr - MoVmg§ñWm, aº$m{^gaU, nMZ d CËgO©Z g§ñWm, ñZm¶y d ApñW
14) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U H$m ©̀H«$‘
15) AÞ Am{U nmofU - ‘°H«$mo d gyú‘ nmofU Ðì¶o, OrdZgÎdo

* {dkmZ d V§ÌkmZ -
16) ^maVmVrb {dkmZ Am{U V§ÌkmZmVrb àJVr, g§ñWm, d¡km{ZH$
17) {dkmZ {dH$mg, V§ÌkmZmÛmao nm`m ŷV gw{dYm§Mm {dH$mg
18) Am¶grQ>r - BboŠQ´m°{ZŠg, H$å ẁ{ZHo$eZ Am{U g§JUH$ V§ÌkmZ, gmoeb ‘r{S>`m
19) A§Vami {dkmZ
20) D$Om© V§ÌkmZ
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(1) dZñnVr§Mo dJuH$aU,CXmhaUo, dZñnVr  eara{dkmZ

(1) dZñnVr noer
1) gd© dZñnVtÀ`m noet‘Ü ò Imbrbn¡H$s H$moUVo AmT>iV Zmhr?

1) H$S>H$ gob q^V 2) ‘Ü` ìh°Š ỳAmob 3) ßbmpñQ>S²g 4) g|Q́mogmo‘
1) Which of the following is not found in cells of all plants ?

1) Rigid cell wall 2) Central vacuole 3) Plastids 4) Centrosomes

2) Šbo{‘S>moñnmoAg© .......... À`m noetnmgyZ V`ma hmoVmV.
1) ñnmoa°pÝJ`m 2) n°a|Q> Ý ỳŠbr 3) ìho{OQ>o{Q>ìh hm`’$m 4) h°ßbmoBS> Ý ỳŠbr

2) Chlamydospores are formed from cells of ..........

1)  Sporangia 2)  Parent nuclei 3) Vegetative hypha 4)  Haploid nuclei

3) EH$noer` dZñnVtÀ`m Aä`mgmer g§~§{YV {dkmZ ................ Amho.
1) ‘mZgemó 2) earaemó 3) earaemó 4) darb gd©

3) Science that deals with the study of algae is ................

1) Psychology 2) Phycology 3) Phytology 4) All of the above

4) h[aV Ðì¶o Imbrbn¡H$s H$moUË¶m dZñnVt‘Ü¶o AmT>iyZ ¶oVmV ?
a) eodmi b) ~«m¶mo’$mB©Q>g² c) Q>oamoS>mo’$mB©Q>g² d) AZmd¥Îm ~rOYmar PmS>o
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) (a) Am{U (b) 3) (c) Am{U (d) 4) (a), (b), (c) Am{U (d)

4) Chlorophyll pigment is present in which of the following plants ?

a) Algae b) Bryophytes c) pteridophytes d) Gymnosperms

Answer Options :

1) (a) only 2) (a) and (b) 3) (c) and (d) 4) (a), (b), (c) and (d)

CÎmao - (1) dZñnVr noer

1-4 2-3 3-2 4-4
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(2) dZñnVtMo dJuH$aU
1) E§{O`moñn‘© {’$bmoOoZr J«wnZo ...... ‘Ü ò APG dJuH$aU {dH${gV Ho$bo.

1) 1996 2) 1997 3) 1993 4) 1998
1) Angiosperm Phylogeny Group developed APG classification in ......

1) 1996 2) 1997 3) 1993 4) 1998

2) {gñQ>r‘m ZoMa hm J«§W àH$m{eV H$aUmè`m dJuH$aUemókmMo Zmd :
1) ~|W‘ Am{U hÿH$a 2) H$mb© {b{Z`g 3) B§½ba Am{U à±Q>b 4) AmW©a H«$m°Z{¹$ñQ>

2) Name taxonomist who published Systema Naturae :

1) Bentham and Hooker 2) Carl Linnaeus

3) Engler and Prantle 4) Arthur Cronquist

3) dZñnVtZm {ÛZm‘ nÕVr H$moUË¶m dZñnVr emókmZo gwé Ho$cr ?
1) ~ogo 2) ~|W‘ Am{U hþH$a 3) H$mc©g² {c{ZAg 4) {WAmo’«$mñQ>g

3) Which Botanist introduced the 'Bionomial' nomenclature to the plants?

1) Bessey 2) Bentham and Hooker 3) Carolus Linnaeus 4) Theophrastus

4) dZñnVrMr Z¡g{J©H$ dJuH$aU nÕVr H$moUr emoYyZ H$mT>cr ?
1) {WAmo’«$mñQ>g 2) ~|W‘ d hþH$a 3) H$mc© {cZm¶g 4) Or. E‘. pñ‘W

4) Who discovered the natural classification system of plants ?

1)  Theophrastus 2)  Bentham and Hooker

3)  Carl Linnaeus 4)  G. M. Smith

5) 1980 ‘Ü ò ~m°Q>{ZH$b [aìøy ‘Ü ò dJuH$aU àUmbr H$moUr àH$m{eV Ho$br?
1) Om°Z h{MÝgZ 2) Aa‘mZ V»VmOZ 3) AmW©a H$m°pÝ¹$ñQ> 4) am°~Q>© Wm°Z©

5) Who published system of classification in “Botanical Review” in 1980 ?

1) John Hutchinson 2) Arman Takhtajan 3) Arthur Conquist 4) Robert Thorne

6) eodmi dZñnVtÀ`m Aä`mgmer g§~§{YV {dkmZ ................ Amho.
1) ‘mZgemó 2) ’$m¶H$m°bm°Or 3) earaemó 4) darb gd©

6) Science that deals with the study of algae is ................

1) Psychology 2) Phycology 3) Phytology 4) All of the above

7) OmoS>çm bmdm …
a) hmobmoQ>mB©n i) Á¶mdoir Zm°‘oZ³boMab Q>mB©n hadVmo
b) b°³Q>moQ>mB©n ii) ‘yi Zm°‘oZ³boMab Q>mB©n
c) {ZAmoQ>mB©n iii) Á¶mdoir hmobmoQ>mB©n hadVmo
d) Am¶gmoQ>mB©n iv) hmobmoQ>mB©nMm Sw>pßcHo$Q>



For Private Circulation OnlyFor Private Circulation Only

‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 15

For Private Circulation Only

n¶m©¶r CÎmao :
(a) (b) (c) (d)

1) (ii) (iii) (i) (iv)

2) (iii) (ii) (i) (iv)

3) (iv) (iii) (i) (ii)

4) (ii) (iii) (iv) (i)

7) Match the following :

a) Holotype i)  When nomenclatural type is missing

b) Lactotype ii) Original nomenclatural type

c) Neotype iii) When holotype is missing

d) Isotype iv) Duplicate of holotype

Answer options :

(a) (b) (c) (d)

1) (ii) (iii) (i) (iv)

2) (iii) (ii) (i) (iv)

3) (iv) (iii) (i) (ii)

4) (ii) (iii) (iv) (i)

8) dZñnVr JQ>mMo ¶mo½¶ CXmhaU OmoS>r Owidm.
dZñnVr JQ>        CXmhaU
(a) e¡dmi i) gm¶H$g
(b) ~«m¶mo’$m¶Q>m ii) bm¶H$monmo{S>¶‘
(c) Q>o[aS>mo’$m¶Q>m iii) â¶wZm[a¶m
(d) AZmd¥Îm~rO iv) ³bm°‘m¶S>mo‘moZm°g
n¶m©¶r CÎmao …
1) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv) 2) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)

3) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i) 4) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

8) Match the correct example of plant group.

Plant Group Example

(a) Algae (i) Cycas

(b) Bryophyte (ii) Lycopodium

(c) Pteridophyte (iii) Funaria

(d) Gymnosperm (iv) Chlamydomonas

Answer options :

1) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv) 2) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)

3) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i) 4) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

9) Imbrbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV?
A) P{‘¶m - Am°S>©a gm¶H°$S>oëg² ‘Ü¶o Amho. ~) nm¶Zg - Am°S>©a H$mo{Z’o$aëg² ‘Ü¶o Amho.
H$) Q>°³gg - Am°S>©a {ZQ>oëg² ‘Ü¶o Amho. S>) WwOm - Am°S>©a Q>o[aS>moñna‘oëg² ‘Ü¶o Amho.
n¶m©¶r CÎmao …
1) {dYmZ S> ~amo~a Amho 2) {dYmZo A Am{U H$ ~amo~a AmhoV
3) {dYmZo A Am{U ~ ~amo~a AmhoV 4) {dYmZo H$ Am{U S> ~amo~a AmhoV
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9) Which of the following statement (s) is/are true ?

a) Zamia belongs to order Cycadales. b) Pinus belongs to order Coniferales.

c) Taxus belongs to order Gnetales. d) Thuja belongs to order Pteridospermales.

Answer options :

1) Statement d is correct 2) Statements a and c are correct

3) Statements a and b are correct 4) Statements c and d are correct

10) MwH$sMr OmoS>r emoYm.
1) b°{~¶Q>r-b°{‘Egr 2) nm‘r-AaoHo$gr 3) H$ånmo{gQ>r-³ë¶w{gEgr 4) A‘~obr’o$ar-A°{nEgr

10) Find the wrong pair.

1) Labiatae - Lamiaceae 2) Palmae - Arecaceae

3) Compositae - Clusiaceae 4) Umbelliferae — Apiaceae

11) Imbrbn¡H$s H$moUVr {nHo$ C
4
 dZñnVr AmhoV?

1) D$g 2) Ádmar 3) ‘H$m 4) darb gd©
11) Among the following, which crops is/are C4, plants ?

1) Sugarcane 2) Sorghum 3) Maize 4) All of the above

12) g§a{jV joÌm‘Ü ò {d{eï> A{Ydmgmn ª̀V ‘`m©{XV Agboë`m Am{U Ë`m joÌm{edm` BVa H$moR>ohr Z AmT>iUmè`m àOmVtZm
_____ àOmVr åhUyZ AmoiIbo OmVo.
1) ñWm{ZH$ 2) ‘m`mdr 3) {dXoer 4) {ZemMa

12) Species that are confined to a particular habitat in a protected area and not found anywhere else

except that area are known as ______ species.

1) endemic 2) elusive 3) exotic 4) nocturnal

13) dZñnVrbm monoecious åhUVmV Voìhm
1) Za d ‘mXr ’w$bo doJdoJù`m dZñnVtda òVmV 2) EH$mM ’w$bmVrb Za d ‘mXr ^mJ
3) Za d ‘mXr ’w$bo EH$mM PmS>mda OÝ‘mbm òVmV 4) ñQ>o{‘ZoQ>

13) The plant is called monoecious when

1) Male and female flowers on different plants

2) Male and female parts in the same flower

3) Male and female flowers are born on same plant

4) Staminate

14) dZñnVtÀ¶m dJuH$aUm‘Ü¶o JwUgwÌm§Mo H$moUVo JwUY‘© ‘hÎdmMr ŷ{‘H$m nma nmS>VmV ?
a) JwUgwÌm§Mr g§»¶m b) JwUgwÌm§Mo ~møê$n c) JwUgwÌm§Mm AmH$ma d) JwUgwÌm§Mo {dMbZ
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a AmhoV ?
1) (a) ’$º$ 2) (b) ’$º$ 3) (a), (b) Am{U (c) 4) (a), (b), (c), (d)

14) Which chromosomal characters play important role in classification of plants ?

a) Number of chromosomes b) Morphology of chromosomes

c) Size of chromosomes d) Aberrations in chromosomes

Which of the given above statement/s is/are correct?

1) (a) only 2) (b) only 3) (a), (b) and (c) only   4) (a), (b), (c), (d)
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15) Imbrbn¡H$s H$moUVm dZñnVr g‘yh g¥ï>rVrb C^¶Ma dZñnVr åhUyZ AmoiIbm OmVmo?
1) Q>o[aS>mo’$mB©Q²>g 2) ~«m`mo’$mB©Q>g 3) {OåZmoñn‘©g 4) E§OrAmoñn‘©g

15) Which of the followings are known as Amphibians of plant kingdom ?

1)  Pteridophytes          2)  Bryophytes 3)  Gymnosperms 4)  Angiosperms

16) Á¶m PmS>m§Mr ~r CKS>r AgVo, Vr PmS>o H$moUË¶m JQ>mV ‘moS>VmV?
1) A±{OAmoñn‘© 2) {OåZmoñn‘© 3) Q´>°{MAmo’$m¶Q>m 4) {H«$ßQ>moJ°åg

16) Plants whose seeds are naked, are classified in which group ?

1) Capers 2) Gymmnosperms 3) Tracheophyta 4) Cryptogamms

17) Imbrbn¡H$s H$moUË¶m dZñnVr JQ>m‘Ü¶o g§dhZr g§ñWm, {~OmUy {Z{‘©Vr AgVo na§Vw ~rOo ZgVmV.
1) ~«m¶mo’$m¶Q>m 2) Q>oarS>mo’$m¶Q>m 3) AZmd¥Îm~rOr 4) Amd¥Îm~rOr

17) Which of the following plant groups has vascular system, produces spores, but does not has

seed?

1) Bryophyta 2) Pteridophyta 3) Gymnosperms 4) Angiosperms

18) Imbrbn¡H$s H$moUVo ‘moZmoH$mo{Q>bS>m°Z nrH$ Amho?
1) ~rQ>éQ> 2) nmbH$ 3) H$m§Xm 4) ‘wim

18) Which of the following is a monocotyledon crop ?

1) Beetroot 2) Spinach 3) Onion 4) Radish

19) dZñnVr naOrdr {‘ñQ>boQ>moOMo dZñn{V Zmd Amho -
1) S|>S´moâWmo ’$mëHo$Q> 2) pñQ´Jm E{e`m{Q>H$m
3) Orobanche aegyptiaca 4) Cuscuta gronovii

19) Botanical name of plant parasitic mistletoes is ....

1) Dendrophthoe falcate 2) Striga asiatica

3) Orobanche aegyptiaca 4) Cuscuta gronovii

20) bmHy$S> dZñnVr, ^maVr` amoPdwS>Mo dZñn{V Zmd ............ Amho.
1) Pinus roxburghii Sar 2) Morus alba Linn

3) Dalbergia latifolia Roxb 4) Cedrus deodara Loud

20) The botanical name of timber plant, Indian rosewood is .............

1) Pinus roxburghii Sar 2) Morus alba Linn

3) Dalbergia latifolia Roxb 4) Cedrus deodara Loud

CÎmao - (2) dZñnVtMo dJuH$aU

1-4 2-2 3-3 4-2 5-2 6-2 7-1 8-3 9-3 10-3
11-4 12-1 13-3 14-4 15-2 16-2 17-2 18-3 19-1 20-3
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(3) Anwîn dZñnVr - W°bmo’$mBQ>, ~«m¶mo’$mBQ>, Q>o[aS>mo’$mBQ>
1) W°bmo’$mBQ>
2) eodmi
3) H$dH$
4) OrdmUy
5) ~«m¶mo’$mBQ>
6) Q>o[aS>mo’$mBQ>

1) W°bmo’$mBQ>

2) eodmi
1) eodmi dJuH$aUm‘Ü¶o "{H$Q>mo’$moaoëg' hm JQ> Imbrbn¡H$s H$moUË¶m dJm©‘Ü¶o ¶oVmo ?

1) ³bmoamo’$m¶Q>m 2) H°$amo’$m¶Q>m 3) {g¶mZmo’$m¶Q>m 4) ìhmoS>mo’$m¶Q>m
1) 'Chaetophorales' group belong to which of the algal class ?

1) Chlorophyta 2) Charophyta 3) Cyanophyta 4) Rhodophyta

2) Imcrcn¡H$s H$moUmnmgyZ àmÊ`mcm AWdm dZñnVrcm H$moUË`mM àH$maMm amoJ hmoV Zmhr ?
1) Am{XOrd 2) {dfmUy 3) eodmi 4) {OdmUy

2) Which of the following does not cause any disease to animal and plants ?

1) Protozoa 2) Virus 3) Algae 4) Bacteria

3) e¡dmi JQ> d Ë¶m§À¶mVrb a§JÐì¶mÀ¶m OmoS>çm bmdm.
   e¡dmi JQ>           a§JÐì¶
A) ³bmoamo’$m¶gr i) ³bmoamo{’$b E d ~r
~) {’$Amo’$m¶gr ii) ’$m¶H$moB[a{W«Z
H$) èhmoS>mo’$m¶gr iii) â¶wH$moPmZ{WZ
S>) H«$m¶gmo’$m¶gr iv) ’$m¶H$moH«$m¶grZ
n¶m©¶r CÎmao …

A ~ H$ S>
1) ii i iv iii

2) i iii ii iv

3) iii iv i ii

4) iv ii iii i

3) Match the algae group and their pigments.

         Algae group            Pigments

a) Chlorophyceae i) Chlorophyll a and b

b) Phaeophyceae ii) Phycoerythrin

c) Rhodophyceae iii) Fucoxanthin

d) Crysophyceae iv) Phycocrysin



For Private Circulation OnlyFor Private Circulation Only

‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 19

For Private Circulation Only

Answer options :

a b c d

1) ii i iv iii

2) i iii ii iv

3) iii iv i ii

4) iv ii iii i

4) eodmi dZñnVr hr AÞgmR>r namdb§~r AgVmV Am{U Ë¶m‘Ü¶o AZoH$ àH$maMr a§JÐì¶o AmT>iVmV.
a) darb {dYmZ nyU©nUo ~amo~a Amho. b) darb {dYmZmVrb nydm©Y© ~amo~a Amho.
c) darb {dYmZ nyU©nUo MyH$ Amho. d) darb {dYmZmVrb nydm©Y© MyH$ Amho.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) (a) Am{U (b) 3) ’$º$ (d) 4) (b) Am{U (c)

4) Algae is dependant upon other living organisms for their food and they have various pigments in

them.

a) The above statement is completely correct

b) The former half of the above statement is correct

c) The above statement is completely wrong

d) The former half of the above statement is wrong.

Answer Options :

1) Only (a) 2) (a) and (b) 3) Only (d) 4) (b) and (c)

3) H$dH$
1) H$moUË¶m ~waer‘Ü¶o gm‘mÝ¶ dmT>rH$[aVm d  ñnmoAa {Z{‘©VrgmR>r OñV ‘ybÐì¶ Amdí¶H$ AgVo?

1) AP°Q>mo~°ŠQ>a 2) A°ñnaOrbg Zm`Ooa 3) no{Z{g{b¶‘ 4) å¶wH$a
1) In which fungus is the zinc element necessary for normal growth and spore formation ?

1) Azotobacter 2) Aspergillus niger 3) Penicillium . 4) Mucor

4) bm¶Ho$Z

1) bm¶Ho$ZÀ¶m g§X^m©V Imbrbn¡H$s H$moUVo {ddaU ~amo~a Amho?
1) e¡dmb AmÐ©Vm d I{ZO KQ>H$m§Mo emofU H$ê$Z H$dH$mg CnbãY H$ê$Z XoVmV Am{U àH$me g§íbofU H$ê$Z AÞmMo

emofU H$aVmV.
2) H$dH$ AmÐ©Vm d I{ZOm§Mo emofU H$ê$Z e¡dmbmg CnbãY H$ê$Z XoVmV d e¡dmb àH$me g§íbofU H$ê$Z AÞ V¶ma

H$aVmV.
3) Ë¶m§À¶m‘Ü¶o ’°$H$ëQ>oQ>rìh å¶wÀ¶wA°brP‘ AgVo.
4) bm¶Ho$Z‘Ü¶o Mm§Jë¶màH$mao {dH${gV AgUmè¶m ñQ>rb CVr AmÐ©Vm emofyZ KoVmV.
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1) Which description is correct for Lichens?

1) Algae makes available the moisture and minerals to Fungus, which absorbs food by

photosynthesis.

2) The Fungus make available the moisture and minerals to Algae, which prepare food by

photosynthesis.

3) They are facultative mutualistic

4) Lichens have well developed stele for absorption of moisture

5) OrdmUy
1) Imbrbn¡H$s H$moUË`m Eamo{~H$ ~°ŠQ>o[a`m‘Ü ò AmpÊdH$ Zm`Q´moOZ {Z{l²MV H$aÊ`mMr j‘Vm Amho?

1) S>p³g©¶m Am{U H«$mo‘°{Q>`‘ 2) S>p³g©¶m Am{U ~m¶Oo[a¨{H$`m
3) ~m¶Oo[a¨{H$`m Am{U Šbmoamo{~`‘ 4) H«$mo‘°{Q>`‘ Am{U Šbmoamo{~`‘

1) Which of the following aerobic bacteria have ability to fix molecular nitrogen ?

1) Derxia and Chromatium 2) Derxia and Beijerinckia

3) Beijerinckia and Chlorobium 4) Chromatium and Chlorobium

6) ~«m¶mo’$mBQ>
1) Imbrbn¡H$s H$moUVm dZñnVr g‘yh g¥ï>rVrb C^¶Ma dZñnVr åhUyZ AmoiIbm OmVmo?

1) Q>o[aS>mo’$mB©Q²>g 2) ~«m`mo’$mB©Q>g 3) {OåZmoñn‘©g 4) E§OrAmoñn‘©g
1) Which of the followings are known as Amphibians of plant kingdom ?

1)  Pteridophytes 2)  Bryophytes 3)  Gymnosperms 4)  Angiosperms

2) ~«m¶mo’$mB©Q>g² ‘Ü¶o h°ßbmoB©S> ~rOo .............. øm‘Ü¶o V¶ma hmoVmV.
1) AZoH$ noetMo ñnmoamo’$mB©Q>g² 2) AZoH$ noetMo J°‘oQ>mo’$mB©Q>g²
3) EH$ noerMo J°‘oQ>mo’$mB©Q>g² 4) EH$ noerMo ñnmoamo’$mB©Q>g²

2) In bryophyta, haploid spores are produced in .............

1) Multicellular sporophyte 2) Multicelluar gametophyte

3) Unicellular gametophyte 4) Unicelluar sporophyte

6) Q>o[aS>mo’$mBQ



For Private Circulation OnlyFor Private Circulation Only

‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 21

For Private Circulation Only

CÎmao - (3) Anwîn dZñnVr - W°bmo’$mBQ>, ~«m¶mo’$mBQ>, Q>o[aS>mo’$mBQ>

1) W°bmo’$mBQ>

2) eodmi
1-1 2-3 3-2 4-3

3) H$dH$
1-2

4) bm¶Ho$Z

1-2

5) OrdmUy
1-2

6) ~«m¶mo’$mBQ>
1-2 2-1

6) Q>o[aS>mo’$mBQ>

>
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(4) gnwîn dZñnVr - AàH$Q>~rOr, àH$Q>~rOr
1) AàH$Q>~rOr
2) àH$Q>~rOr

1) AàH$Q>~rOr
1) Á¶m PmS>m§Mr ~r CKS>r AgVo, Vr PmS>o H$moUË¶m JQ>mV ‘moS>VmV?

1) A±{OAmoñn‘© 2) {OåZmoñn‘© 3) Q´>°{MAmo’$m¶Q>m 4) {H«$ßQ>moJ°åg
1) Plants whose seeds are naked, are classified in which group ?

1) Capers 2) Gymmnosperms 3) Tracheophyta 4) Cryptogamms

2) .......... øm dZñnVt‘Ü¶o nyU© dmT> Pmbobr CVH$ AgVmV na§Vw ¶mo½¶ ~r¶m ZgVmV.
1) eodmi 2) ~«m¶mo’$mB©Q>g² 3) AZmd¥Îm ~rOYmar dZñnVr 4) darbn¡H$s EH$hr Zmhr

2) Plants having well differentiated vascular bundles; but lacking proper seeds are .............. .

1) Algae 2) Bryophytes 3) Gymnosperms 4) None of the avive

3) emo[a¶m amo~ñQ>m ........ O§JbmV AmT>iVo.
1) VamB© 2) {edm{bH$ 3) Imgr Q>oH$S>r 4) darb gd©

3) Shorea robusta is found in forests.

1) Tarai 2) Siwalik 3) Khasi hill 4) All the above

4) JmoS>çm nmÊ`mVrb XbXbrÀ`m O§JbmVrb ‘hÎdmÀ`m àOmVr AmhoV :
1) Avicennia sp. 2) Barringtonia sp. 3) Brugeriera sp. 4) Myristica sp.

4) The important species of a fresh water swamp forest is :

1) Avicennia sp. 2) Barringtonia sp. 3) Brugeriera sp. 4) Myristica sp.

5) AZmd¥Îm ~rOYmar dZñnVt‘Ü¶o AVrgyú‘ ~rOo ............... øm‘Ü¶o V¶ma hmoVmV.
1) ‘oJñnmoamZ²OrAm Oo gyú‘ñnmoamo{’$bda dmT>Vo 2) ‘m¶²H«$moñnramZ²OrAm Oo gyú‘ñnmoamo{’$bda dmT>Vo
3) ‘oJ°ñnmoamZ²OrAm Oo ‘oJ°ñnmoamo{’$bda dmT>Vo 4) ‘m¶²H«$moñnramZ²OrAm Oo ‘oJ°ñnmoamo{’$bda dmT>Vo

5) In gymnosperms, microspores are produced in ..............

1) Megasporangium borne on Microsporophyll

2) Microsporangium borne on Microsporophyll

3) Megasporangium borne on Megasporophyll

4) Microsporangium borne on Megasporophyll

6) MwH$sMr OmoS>r emoYm.
1) b°{~¶Q>r-b°{‘Egr 2) nm‘r-AaoHo$gr 3) H$ånmo{gQ>r-³ë¶w{gEgr 4) A‘~obr’o$ar-A°{nEgr

6) Find the wrong pair.

1) Labiatae - Lamiaceae 2) Palmae - Arecaceae

3) Compositae - Clusiaceae 4) Umbelliferae — Apiaceae
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2) àH$Q>~rOr

1) {bMr ¶m Hw$Qw>§~mVrb Amho
1) ‘moamgr 2) ~«mo‘o{b`mgr 3) gqnS>goB© 4) ‘m`Q>}gr

1) Litchi belongs to the family

1) Moraceae 2) Bromeliaceae 3) Sapindaceae 4) Myrtaceae

2) dZñnVtMm {dMma H$am
A) goñ~{Z`m EŠ ẁboQ>m ~) goñ~{Z`m ñno{e`mogm H$) Sesbania rostrata S>) nm|Jm{‘`m ½b°~«m
darbn¡H$s H$moUVr e|Jm ẁº$ dZñnVr AmhoV?
1) ’$º$ A 2) ~ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) A, ~, H$ Am{U S>

2) Consider the plants

a) Sesbania aculeata b) Sesbania speciosa c) Sesbania rostrata d) Pongamia glabra

Which of the above are leguminous plants ?

1) a only 2) b only 3) a, b and c only 4) a, b, c and d

CÎmao - (4) gnwîn dZñnVr - AàH$Q>~rOr, àH$Q>~rOr

1) AàH$Q>~rOr
1-2 2-4 3-4 4-4 5-2 6-3

2) àH$Q>~rOr

1-3 2-4
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(5) dZñnVtMo earaemó
1) ‘wio
2) ImoS> d ’$m§Úm - g§dhZr D$Vr
3) ’w$bo
4) àOZZ
5) D$Vr

1)  ‘wio
1) ‘moZmoH$moQ>mBbS>moZg ‘wim§‘Ü ò AZoH$ EH$H$mo{eH$s` ‘wim§À`m Ho$gm§Mm EH$b, ~møV‘ Wa åhUyZ AmoiIbm OmVmo.

1) {nW 2) H$m°Q>}Šg 3) noargm`H$b 4) E{n~b‘m
1) In monocotyledonous roots the single, outermost layer with a number of unicellular root hairs is

known as

1) Pith 2) Cortex 3) Pericycle 4) Epiblema

2)  ImoS> d ’$m§Úm - g§dhZr D$Vr
1) dZñn{VemómZwgma ’$m¶~a dZñnVrnmgyZ "~mñQ> ’$m¶~g©' {‘iVmV. àË¶jmV Vo dZñnVrÀ¶m Imcrcn¡H$s H$moUË¶m

^mJmV AgVmV?
1) agdm{hÝ¶m 2) Ocdm{hÝ¶m 3) ‘wio 4) nmZo

1) Botanically fibre plants gives bast fibres. These are actually which of the following parts of the

plants?

1) Phloem 2) Xylem 3) Roots 4) Leaves

3) ’w$bo, namJr^dZ
1) ñdnamJr ^dZmZo V`ma hmoUmè`m {~`mÊ`mg ...... Ago g§~mo{YV H$aVmV.

1) A°nmoJ°_r 2) A°nmo_m`grg 3) A°Q>moJ°_r 4) {gZJ°_r
1) Development of seed by self pollination refers to .........

1) Appogamy 2) Appomisis 3) Autogamy 4) Syngamy

2) ’w$cm§‘Yrc Amdí¶H$ ‘§S>i H$moUVo ?
1) {ZXc Am{U n[aXc 2) {ZXc Am{U Xc 3) nw‘§J Am{U Om¶m§J 4) {ZXc nw§O Am{U nw§Ho$ga

2) Which of the following are essential whorls of the flowers?

1) Sepal and Tepal 2) Sepal and Petal

3) Androecium and Gynoecium 4) Calyx and Stamens

3) H$moUË`m {nJ_oÝQ> (a§JÐì`) _wio \$im§_Ü ò cmc a§J hmoVmo?
1) cm`H$monrZ 2) A±W«mogm`ZrZ 3) P±Wmo\$sc 4) H°$amoQ>rZ
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3) Which pigment causes the Induction of red colour in fruits ?

1) Lycopin 2) Anthocyanin 3) Xanthophyll 4) Carotene

4) àOZZ
1) Ho$irVrb ‘mXr Q>ßnm nyU© Pmë`mZ§Va Za H$ir H$mT>Uo `mbm ............ åhUVmV.

1) qnqMJ 2) S>oZoìhqbJ 3) ‘°Q>m°qH$J 4) {S>gH$[a¨J
1) Removal of male bud after completion of female phase in banana is called ............

1) Pinching 2) Denavelling 3) Mattocking 4) Desuckering

2) àgmamMr Ab¢{JH$ nÕV `m‘Ü ò {d^mJbr Amho :
a) ñQ>o‘ H$qQ>J b) éOboë`m pñbßg c) {~`m d) Rhizomes

n¶m©¶r CÎmao …
1) ’$º$ a 2) a, b Am{U c 3) a, b, c Am{U d 4) a, b Am{U d

2) The asexual method of propagation is divided into :

a) Stem cutting b) Rooted slips c) Seeds d) Rhizomes

Answer options :

1) a only 2) a, b and c 3) a,b, c and d 4) a,b and d

3) gm`nag amoQ>§S>gMr bmJdS> H$moUË`m ^mJmmÛmao Ho$br OmVo?
1) YmdnQy> 2) emofH$ 3) H§$X 4) Am°’$goQ>

3) By which organ does Cyperus rotundus propogate vegetatively ?

1) Runners 2) Suckers 3) Tubers 4) Offsets

5) D$Vr
1) n[an¹$ noetÀ`m ‘o[añQ>o‘°{Q>H$ "AdñWo'H$S>o naV OmÊ`mÀ`m Am{U A{d ô{XV H$m°bg {Q>ûm ỳ V`ma hmoÊ`mÀ`m KQ>Zobm

............ Ago åhUVmV.
1) gm`Q>mo{S>’$a|{eEeZ 2) {S>’$a|{eEeZ 3) nwZ{d©̂ oXZ 4) Q>mo{Q>nmoQ>|gr

1) The phenomenon of mature cells reverting to a meristematic ‘state and forming undifferentiated

callus tissue is termed as ............

1) Cytodifferentiation 2) Dedifferentiation

3) Redifferentiation 4) Totipotency
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CÎmao - (5) dZñnVtMo earaemó

1)  ‘wio
1-4

2)  ImoS> d ’$m§Úm - g§dhZr D$Vr
1-1

3) ’w$bo, namJr^dZ
1-3 2-3 3-2

4) àOZZ
1-2 2-4 3-3

5) D$Vr
1-2



For Private Circulation OnlyFor Private Circulation Only

‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 27

For Private Circulation Only

(6) dZñnVtMo nmofU - IVo
1) nrH$ AÞÐì¶o- dZñnVt‘Yrb AH$m~©{ZH$ nmofH$ KQ>H$
2) ‘°H«$moÝ¶y{Q´>¶§Q>g / ‘m¶H«$moÝ¶y{Q´>¶§Q²>g, Amdí¶H$ nmofH$ VÎd /AZmdí¶H$ nmofH$ VÎd
3) Hw$nmofU
4) IVo

1) nrH$ AÞÐì¶o- dZñnVt‘Yrb AH$m~©{ZH$ nmofH$ KQ>H$
1) Imbrbn¡H$s H$moUVo KQ>H$ dZñnVr‘Ü ò {Z`m‘H$ Am{U dmhH$ åhUyZ H$m‘ H$aVmV?

1) C,H,O 2) N,P,S 3) K, Ca, Mg 4) Fe, Mn, Zn

1) Which of the following elements act as regulators and carriers in the plant ?

1) C,H,O 2) N,P,S 3) K, Ca, Mg 4) Fe, Mn, Zn

2) Imbrbn¡H$s dZñnVt‘Ü¶o H$moUVm ‘ybÐì¶ Ë¶mÀ¶m H$m¶m©er MwH$sÀ¶m nÕVrZo OmoS>bm Jobm Amho?
1) ZÌ - H|$ÐH$ Amåbo, à{WZo, g§àoaHo$ Am{U gh{dH$a ¶m§Mm KQ>H$
2) ‘°¾o{e¶‘ - h[aV Ðì¶mMm KQ>H$
3) ’$m°ñ’$moag - H|$ÐH$ Amåbo, ATP H$mhr gh{dH$a ¶m§Mm KQ>H$
4) J§YH$ - H|$ÐH$ Amåbm§Mm KQ>H$

2) Which of the following element and its function in plants is paired incorrectly?

1) Nitrogen - component of nucleic acids, protein, hormones, co-enzymes.

2) Magnesium - component of chlorophyll

3) Phosphorus - component of nucleic acids, ATP, some co-enzymes.

4) Sulphur - component of nucleic acids

3) O{‘ZrV ‘mo~mB©b nmofH$ Am`Z AgVmV

n¶m©¶r CÎmao …
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) a, b, c Am{U d

3) Mobile nutrient ions in soil are

Answer Options :

1) a only 2) a and b only 3) a, b and c only 4) a, b, c and d
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4) dZñnVtÀ¶m Am¶wî¶mVbo ’«o$‘dH©$ Bbo‘|Q>g H$moUVo AmhoV ?
1) Zm¶Q´>moOZ, ‘°¾o{eA‘, ~moam°Z 2) H°$pëe¶‘, Zm¶Q´>moOZ, nmoQ>°{e¶‘
3) ‘°¾o{e¶‘, Am¶Z©, ³bmoarZ 4) H$m~©Z, hm¶S´>moOZ, Am°³grOZ

4) Which are the framework elements in plant life ?

1) Nitrogen, Magnesium, Boron 2) Calcium, Nitrogen, Potassium

3) Magnesium, Iron, Chlorine 4) Carbon, Hydrogen, Oxygen

5) OmoS>çm bmdm …
nrH$ AÞÐì¶o   CXmhaU

a) ‘yc ŷV AÞÐì¶ i) Vm§~o
b) àmW{‘H$ AÞÐì¶ ii) ñ’w$aX
c) Xþæ¶‘ AÞÐì¶ iii) àmUdm ỳ
d) gyú‘ AÞÐì¶ iv) J§YH$
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (iii) (ii) (iv) (i)

3) (ii) (iv) (i) (iii)

4) (i) (ii) (iii) (iv)

5) Match the following :

Plant nutrients Example

(a)  Basic nutrient (i)  Copper

(b)  Primary nutrient (ii)  Phosphorus

(c)  Secondary nutrient (iii) Oxygen

(d)  Micro nutrient (iv)  Sulphur

Answer Options :

(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (iii) (ii), (iv) (i)

3) (ii) (iv) (i) (iii)

4) (i) (ii) (iii)  (iv)

6) dZñnVrÀ`m dmT>rgmR>r ....... hm gdm©V _hËdmMm KQ>H$ Amho.
1) Zm`Q´>moOZ 2) Am°pŠgOZ 3) H$m~©Z 4) nmoQ°>{e`_²

6) ......... is the most important component for the growth of plants.

1) Nitrogen 2) Oxygen 3) Carbon 4) Potassium

7) dZñnVtÀ¶m gm‘mÝ¶ dmT>rH$arVm H$moUVm KQ>H$ OmñV à‘mUmV Amdí¶H$ AgVmo ?
a) nmoQ>°{e¶‘ b) ~moam°Z c) ³bmoarZ d) ‘°¾o{e¶‘
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (a) Am{U (b) 3) ’$º$ (c) 4) ’$º$ (d)
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7) Which element is required in higher amounts for normal plant growth ?

a) Potassium b) Boron c) Chlorine d) Magnesium

Which of the statements given above is/are correct ?

Answer Options :

1) Only (a) 2) Only (a) and (b) 3) Only (c) 4) Only (d)

8) ‘°¾o{e¶‘ H$moUË¶m g§aMZoMm ‘hÎdmMm KQ>H$ Amho ?
a) ³bmoamo{’$b b) Zm¶Q´>moOZ ‘oQ>m°~m°{bP‘
c) àH$me g§íbofU d) gmIa dmhVwH$
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
1) ’$º$ (a) 2) ’$º$ (b) 3) ’$º$ (b) Am{U (c) 4) ’$º$ (c) Am{U (d)

8) Magnesium is essential for which structure ?

a) Chlorophyll b) Nitrogen metabolism

c) Photosynthesis d) Sugar transport

Which of the statemerits given above is/are correct ?

Answer Options :

1) Only (a) 2) Only (b) 3) Only (b) and (c) 4) Only (c) and (d)

9) amonmgmR>r ’$m°ñ’$agMr CnbãYVm ........ gma»`m KQ>H$m§À`m nañna g§dmXmÛmao {Z §̀{ÌV Ho$br OmVo.
1) ’$º$ à‘mU 2) ’$º$ à‘mU Am{U Vrd«Vm
3) ’$º$ Vrd«Vm Am{U ’$m°ñ’o$Q> ~’$[a¨J j‘Vm 4) ‘mÌm, Vrd«Vm Am{U ’$m°ñ’o$Q> ~’$[a¨J j‘Vm

9) Availability of P to plant is controlled by the mutual interplay of factors such as ........

1) quantity only

2) quantity and intensity only

3) intensity and phosphate buffering capacity only

4) quantity, intensity and phosphate buffering capacity

2) ‘°H«$moÝ¶y{Q́>¶§Q>g / ‘m¶H«$moÝ¶y{Q́>¶§Q²>g, Amdí¶H$ nmofH$ VÎd /AZmdí¶H$ nmofH$ VÎd
1) ‘°H«$moBbo‘|Q>g² åhUOo H$m¶ ?

1) Oo KQ>H$ H$‘r à‘mUmV bmJVmV 2) Oo KQ>H$ g‘ à‘mUmV bmJVmV
3) Oo KQ>H$ OmñV à‘mUmV bmJVmV 4) darbn¡H$s H$moUVohr Zmhr

1) What are macroelements ?

1) Elements required in small amounts 2) Elements required in equal amounts

3) Elements required in large amounts 4) None of the above

2) Imbrbn¡H$s H$moUVo {dYmZ/{dYmZo dZñnVt‘Yrb AH$m~©{ZH$ nmofH$ KQ>H$m§~m~V gË¶ AmhoV?
(a)  N, S Am{U Fe ho ‘°H«$moÝ¶y{Q´>¶§Q>g AmhoV. (b)  O, Ca Am{U Mg ho ‘m¶H«$moÝ¶y{Q´>¶§Q²>g AmhoV.
(c)  Cu, Zn Am{U Mn ho Amdí¶H$ nmofH$ VÎd AmhoV. (d)  B, Mo Am{U Cl ho AZmdí¶H$ nmofH$ VÎd AmhoV.
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (a) Am{U (b) 3) (a) Am{U (c) 4) (c) ’$º$
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2) Which of the following is correct statement/statements regarding inorganic nutrients in plants ?

(a)  N, S and Fe are macronutrients

(b)  O, Ca and Mg are Micronutrients

(c)  Cu, Zn and Mn are essential elements

(d)  B, Mo and CI are non-essential elements

Answer Options :

1)  (a) Only 2)  (a) and (b) 3)  (a) and (c) 4) Only (c

3) Hw$nmofU
1) ~moam°Z Am{U H°$pëeA_Mr H$_VaVm {nH$mÀ`m nmZmÀ`m H$moUË`m ^mJmda {XgVmV ?

1) OwZr ImcMr nmZo 2) nmZmÀ`m _Yë`m {eam 3) e|S>çmMr nmZo 4) nmZmÀ`m {eam_Yrc ̂ mJ
1) Where the deficiency symptoms of boron and calcium observed in growing plants ?

1) Older leaves 2) Midrib of leaves

3) Terminal leaves 4) Portion between midribs

2) H$moUVr PmS>o ŠcmoamBS>À`m H$‘VaVogmR>r g§doXZerb ‘mZbr OmVmV?
1) Zmai Am{U Vob nm‘ 2) ‘H$m Am{U e|JXmUo 3) e|Jm Am{U H$mnyg 4) Vm§Xyi Am{U Ádmar

2) Which plants are considered sensitive to chloride deficiency ?

1) Coconut and oil palm 2) Maize and groundnut

3) Legumes and cotton 4) Rice and sorghum

3) erW ãbmBQ> èhm¶Pmo³Q>mo{Z¶m gmobmZrZo (å`mZ ãbmBQ>) Z¡g{J©H$[aË`m ~m{YV Pmboë¶m ^mVmÀ`m PmS>m§Mm àmXŵ m©d hm,
........ Mo à‘mU OmñV Agboë¶m Cƒ CO

2
 pñWVrV OmñV hmoVm,  na§Vw Ë`m‘wio å`mZ ãbmBQ>Mr Vrd«Vm dmT>ë¶mMo {XgV

Zmhr.
1) Zm`Q´moOZ 2) ’$m°ñ’$ag 3) nmoQ>°e 4) H°$pëe`‘

3) The incidence of rice plants naturally infected with sheath blight Rhizoctonia solani, was generally

higher at elevated CO2 under high ........... levels, but this does not increase sheath blight severity.

1) nitrogen 2) phosphorus 3) potash 4) calcium

4)  IVo
1) ‘Ëñ` IVm‘Ü ò NPK Mo à‘mU ......, ...... Am{U ...... Amho.

1) 7.80%, 2.30%, 2.22% 2) 5.20%, 1.00%, 1.40%
3) 4.30%, 2.00%, 1.00% 4) 4.10%, 3.90%, 0.30%

1) The percent amount of NPK in Fish manure is ......, ...... and ......

1) 7.80%, 2.30%, 2.22% 2) 5.20%, 1.00%, 1.40%

3) 4.30%, 2.00%, 1.00% 4) 4.10%, 3.90%, 0.30%

2) Oa 24 {H$cmo ñ\w$aX 0.4 hoŠQ>a joÌmdarc {nH$mg Úmd`mMo Agoc, Va Ë`mgmR>r qgJc gwna \$m°ñ\o$Q> ......  {H$cmo
cmJoc.
1) 50 2) 100 3) 150 4) 60
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2) If 24 kg P
2

O
5

 is to be applied to a crop grown on 0.4 ha, the quantity of single super phosphate

required will be ......... kg.

1) 50 2) 100 3) 150 4) 60

3) H$‘r {díbofU IVm§‘Ü ò àmW{‘H$ nmofH$ KQ>H$m§À`m Q> o̧$dmar AgVmV.
1) 25 nojm H$‘r 2) 30 nojm H$‘r 3) 35 nojm H$‘r 4) 40 nojm H$‘r

3) The low analysis fertilizers contain per cent of primary nutrients.

1) less than 25 2) less than 30 3) less than 35 4) less than 40

4) 0.40 hoŠQ>a joÌmgmR>r H$mnyg {nH$mg 60 {H$/ho `mà_mUo nmcme IV Úmd`mMo Pmë`mg å ỳaoQ> Am°\$ nmoQ>°e IVmMr
...... _mÌm Úmdr cmJVo.
1) 20 {H$/ho 2) 24 {H$/ho 3) 40 {H$/ho 4) 60 {H$/ho

4) Cotton crop is to fertilize with 60 kg/ha, required quantity of fertilizer through muriate of potash

for 0.40 ha is ......

1) 20 kg/ha 2) 24 kg/ha 3) 40 kg/ha 4) 60 kg/ha

5) IVm§‘Ü ò Agboë¶m Imbrbn¡H$s H$moUË`m Am`Z‘wio eH©$a {nH$m§‘Ü ò hmoUmam gmIaoMm g§M` à^m{dV hmoVmo?
1) ŠbmoamB©S> 2) gë’$mBQ> 3) Zm`Q´moOZ 4) gmo{S>`‘

5) In sugar crops, accumulation of sugar is affected due to which of the following ions present in

fertilizers ?

1) Chloride 2) Sulphite 3) Nitrogen 4) Sodium

6)  {nH$mbm XoÊ¶mÀ¶m 1 ‘{hÝ`mnydu eoUIV (fym) g‘¥Õ H$aÊ`mgmR>r  Ë¶mV .......... nyU©nUo {‘gibo OmVo.
1) gwna ’$m°ñ’o$Q> 2) ẁ[a`m 3) å ẁ[aEQ> Am°’$ nmoQ>°e 4) darb gd©

6) ......... is thoroughly mixed for enrichment of farmyard manure (fym) before one month of

application.

1) Super Phosphate 2) Urea 3) Muriate of Potash 4) All the above

7) ‘w»` Am{U {H$aH$moi dZñnVtÀ`m nmofH$ VËdm§Mo g‘¥Õ IV H$moUVo Amho?
1) eoUIV 2) Jm§Sy>i IV 3) am`Pmo{~`‘ 4) O¡d IVo

7) Which is a rich manure of major and minor plant nutrients ?

1) FYM 2) Vermicompost 3) Rhizobium 4) Biofertilizer

8) "BââH$mo' Z°Zmo ......... ho ^maV gaH$maZo ‘mÝ¶Vm {Xbobr Am{U IVo {Z¶§ÌU AmXoemV g‘m{dï> Agbobo EH$‘mÌ Z°Zmo
IV Amho.
1) ’$m°g 2) J§YH$ 3) ¶w[a¶m 4) OñV

8) The only Nano fertilizer approved by the Government of India and included in fertilizer control

order is 'IFFCO’ Nano ......

1) Phos 2) Sulphur 3) Urea 4) Zinc

9) Imbrbn¡H$s H$moUË`m IVm‘Ü ò A‘mBS> ñdê$nmV Zm`Q´moOZ AgVo?
1) ẁ[a`m 2) gmo{S>`‘ Zm`QóQ> 3) A‘mo{Z`‘ gë’o$Q> 4) A‘mo{Z`‘ Zm`QóQ>
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9) Which of the following fertilizers contains Nitrogen in amide form ?

1) Urea 2) Sodium Nitrate

3) Ammonium Sulphate 4) Ammonium Nitrate

10) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a/AmhoV?
A) EH$mJ« Ho$boë`m g|{Ð` IVm§‘Ü ò dZñnVtÀ`m nmofH$ VËdm§Mr Q> o̧$dmar OmñV AgVo
~) H|$ÐrV g|{Ð` IV àmUr qH$dm dZñnVr CËnÎmrÀ`m H$ÀÀ`m ‘mbmnmgyZ ~Zdbo OmVo
H$) gm‘mÝ` H|${ÐV g|{Ð` IVo åhUOo F.Y.M. Am{U H§$nmoñQ>
`mo½` n`m©̀  {ZdS>m :
1) ’$º$ (A) 2) ’$º$ (~) 3) (A) Am{U (~) 4) (~) Am{U (H$)

10) Among the following which statement(s) is/are correct ?

a) Concentrated organic manures contain higher percentage of plant nutrients

b) Concentrated organic manures are made from raw materials of animal or plant origin ©

c) The common concentrated organic manures are F.Y.M. and compost

Select the correct option :

1) Only (a) 2) Only (b) 3) (a) and (b) 4) (b) and (c)

11) amonmgmR>r ’$m°ñ’$ag Mr CnbãYVm ........ gma»`m KQ>H$m§À`m nañna g§dmXmÛmao {Z §̀{ÌV Ho$br OmVo.
1) ’$º$ à‘mU 2) ’$º$ à‘mU Am{U Vrd«Vm
3) ’$º$ Vrd«Vm Am{U ’$m°ñ’o$Q> ~’$[a¨J j‘Vm 4) ‘mÌm, Vrd«Vm Am{U ’$m°ñ’o$Q> ~’$[a¨J j‘Vm

11) Availability of P to plant is controlled by the mutual interplay of factors such as ........

1) quantity only

2) quantity and intensity only

3) intensity and phosphate buffering capacity only

4) quantity, intensity and phosphate buffering capacity

CÎmao - (6) dZñnVtMo nmofU - IVo

1) nrH$ AÞÐì¶o- dZñnVt‘Yrb AH$m~©{ZH$ nmofH$ KQ>H$
1-3 2-4 3-1 4-4 5-2 6-1 7-1 8-1 9-4

2) ‘°H«$moÝ¶y{Q́>¶§Q>g / ‘m¶H«$moÝ¶y{Q́>¶§Q²>g, Amdí¶H$ nmofH$ VÎd /AZmdí¶H$ nmofH$ VÎd
1-3 2-3

3) Hw$nmofU
1-3 2-1 3-1

4)  IVo
1-4 2-3 3-1 4-3 5-1 6-1 7-2 8-3 9-1 10-3
11-4
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(7) dZñnVtMo  M¶mnM¶Z
1) àH$meg§íbofU
2) dZñnVr ídgZ
3) ~mînmoËgO©Z
4) g§àoaHo$
5) dhZ
6) ’$moQ>mo{n[a¶m°{S>P‘
7) namJr^dZ d A§Hw$arH$aU
8) nwZéËnmXZ
9)  nU©g§̂ ma, ’w$bo, ’$iYmaUm

1) àH$meg§íbofU
1) ŠbmoamoßbmñQ>Mo ‘w»` H$m ©̀ ...... Amho.

1) ídgZ 2) Šbmoamo{gg 3) àH$meg§íbofU 4) ’$moQ>mo’$m°ñ’$mo[aboeZ
1) The main function of chloroplasts is .......

1) Respiration 2) Chlorosis

3) Photosynthesis 4) Photophosphorylation

2) gm¡a {H$aUmoËgJm©Mo .........  à‘mU, D$O}À`m Ñï>rZo àH$meg§íbofUmV dmnabm OmVmo.
1) 24% 2) 28% 3) 32% 4) 36%

2) A portion of solar radiation, up to ......... in terms of energy is used in photosynthesis.

1) 24% 2) 28% 3) 32% 4) 36%

3) àH$me g§íbofUm‘Ü¶o àH$memda AmYmarV à{H«$¶oMo ‘hÎdmMo H$m¶© H$moUVo Amho?
1) NADH

2
 d ATP Mo ê$nm§Va H$aUo 2) NADPH d ATP Mm Cn¶moJ H$aUo

3) NADPH d ATP Mr {Z{‘©Vr H$aUo 4) darb gd©
3) What is the principal function of the light-dependent reactions of photosynthesis ?

1) To transfer the NADH and ATP 2) To utilize the NADPH and ATP

3) To generate the NADPH and ATP 4) All of the above

4) àH$meg§ícofU dZñnVtÀ`m {d{dY ‘mJmªn¡H$s H$moUË`m ‘mJm©Mr nmUr dmna H$m ©̀j‘Vm H$‘r Amho?
1)  C

3
 dZñnVr 2) C

2
 dZñnVr 3) CAM dZñnVr 4) darb gd©

4) Which of the different pathway of photosynthesis plants have lower water use efficiency ?

1) C
3 
plants 2) C

2
, plants 3) CAM plants 4) All of the above

5) H$moUË¶m dZñnVr‘Ü¶o EM.Eg.Ho$. AWdm C4 ¶m àH$maMo àH$meg§íbofU hmoVo?
1) D$g 2) ŵB©‘yJ 3) gỳ ©’y$c 4) ~Q>mQ>m

5) Name the plant having H. S. K. or C
4

 pathway of photosynthesis.

1) Sugarcane 2) Groundnut 3) Sunflower 4) Potato
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6) dZñnVtÛmao àH$meg§í²bofUmÛmao g|{Ð` H$m~©Z‘Ü ò AH$m~©{ZH$ CO Mo ê$nm§Va H$aÊ`mMr Am{U ‘mVrV ~wS>Ê`mMr à{H«$`m
Amho.
1) H$m~©Z H«o${S>Q> 2) àH$meg§ícofU 3) ídgZ 4) H$m~©Z Oá H$aUo

6) is the process of transformation of inorganic CO, through photosynthesis by plants into organic

carbon and sink in soils.

1) Carbon credit 2) Photosynthesis

3) Respiration 4) Carbon sequestration

7) C
4
 dZñnVt‘Ü`o, ’$m°ñ’$moA°Zm°bnm`é{dH$ A°{gS> H$m~m}pŠPboP‘Ü`o H$m~©Z S>m`Am°ŠgmBS> Am{U Cƒ g§^mì`

{H«$`mH$bmnm§gmR>r Iyn OmñV AmË‘r`Vm Amho. Ë`m‘wio -
a) C

4
 dZñnVt‘Ü ò C

4
 dZñnVtnojm OmñV àH$meg§ícofU Xa AgVmo

b) C
4
 PmS>o XwîH$mi à{VamoYH$ AmhoV Ago åhQ>bo OmVo H$maU Vo Amobmì`mÀ`m VUmdmImbr XoIrb Mm§Jbo dmT>Ê`mg

gj‘ AgVmV
c) C

4
 dZñnVr A{YH$ doJmZo àH$meg§ûmcofU H$aVmV

d) H$mhr C
4
 dZñnVr H$m~©Z S>m` Am°ŠgmB©S>Mo à‘mU 100 nrnrE‘ AgVmZmhr àH$meg§ícofU H$ê$ eH$VmV.

darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) gd© a, b, c Am{U d

7) In C, plants, phosphoenolpyruvic acid carboxylase has very high affinity for carbon dioxide and

high potential activity. Therefore

a) C
4
 plants have higher photosynthetic rate than C4 plants

b) C
4
 plants are said to be drought resistant as they are able to grow better even under moisture

stress

c) C
4
plants translocate photosynthates more rapidly

d) Some C
4
 plants can photosynthesize even when carbon dioxide concentration is 100 ppm

Which of the above statement/s is/are correct ?

1) a only 2) a and b only 3) a, b and c only 4) All a, b, c and d

2) dZñnVr ídgZ

1) PmS>m§À¶m ídmgmoÀN>dmgmÀ¶m H«o$~À¶m MH«$mXaå¶mZ Imbrbn¡H$s H$moUË¶m à{H«$¶oÛmao â¶w‘°arH$ A°grS>Mo ê$nm§Va ‘°brH$
A°grS> ‘Ü¶o hmoVo ?
1) S>rH$m~m}³grboeZ 2) {S>hm¶S´>moOrZoeZ 3) {S>hm¶S´>oeZ 4) hm¶S´>oeZ

1) During Krebs cycle in respiration, fumaric acid gets converted into malic acid by

1) decarboxylation 2) dehydrogenation 3) dehydration 4) hydration

2) R>amdrH$ H$mbmdYr‘Ü¶o Imbrbn¡H$s H$moUË¶m CËnmXH$VoV dZñnVr ídgZm‘Ü¶o dmnamV ¶oUmè¶m g|Ðr¶ nXmWm©nojm Ë¶m§Mr
dZñnVr D$Vr‘Ü ò OmñV à‘mUmV gmR>dU hmoVo ?
1) EHy$U àmW{‘H$ CËnmXH$Vm 2) {Zìdi àmW{‘H$ CËnmXH$Vm
3) {Zìdi g‘wXm¶mMr CËnmXH$Vm 4) Xþæ¶‘ CËnmXH$Vm
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2) Which of the following productivity refers to the storage of organic matter in plant tissues ex-

ceeding the respiratory use by plants during the period of measurement ?

1)  Gross primary productivity 2)  Net primary productivity

3)  Net community productivity 4)  Secondary productivity

3) ~mînmoËgO©Z

1) ~mînmoËgO©ZmVyZ hmoUmam nmÊ¶mMm ì¶¶ H$‘r H$aVm ¶oVmo …
a) à{V~mînmoËgOHo$ dmnê$Z    b) namdV©Ho$ dmnê$Z c) dmT> amoYHo$ dmnê$Z
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (a) Am{U (c) 4) darbn¡H$s gd©

1) Water loss through transpiration can be reduced by :

(a)  Using antitranspirants

(b)  Using reflectance

(c)  Using growth retardants

Answer Options :

1)  Only (a) and (b) 2)  Only (a) and (c) 3)  Only (b) and (c) 4)  All of the above

4) g§àoaHo$
1) dZñnVt‘Ü¶o H$moUVo {dH$a OmñV à‘mUmV AmT>iVo ?

1) {~Q>m J°c°³Q>mogmBS>oO 2) Ama¶w~rnr H$ma~m°³grcoO      3) E§Q>oamoH$m¶ZoO 4) hoQ>amoH$m¶ZoO
1) In plant, which enzyme is found in largest quantity?

1) β galactosidase 2) RuBP carboxylase 3) Enterokinase 4) Heterokinase

2) Imbrbn¡H$s H$moUVo g§àoaH$ dZñnVr ‘Ü¶o d¥ÕËd {Z‘m©U H$aVo ?
1) Am°p³gPZ 2) gm¶Q>moH$m¶{ZZ 3) B{WbrZ 4) A°~go{gH$ A°{gS>

2) Which of the following plant hormone is responsible for senescence?

1) Auxin 2) Cytokinin 3) Ethylene 4) Abscisic Acid

3) ....... `m g§àoaH$mÀ`m dmnam_wio ÐmjmÀ`m doctMr Omo_Xma dmT> Wm§~dyZ, \$iYmaUm hmoUmè`m S>moù`mMm {dH$mg hmoVmo.
1) gm`H$mocrg 2) {O~«ocrH$ A°{gS> 3) hm`S´>moOZ gm`Zm_mB©S> 4) `mn¡H$s EH$hr Zmhr

3) The hormone ............... is used to suppress the vigour of grape vines and increase the fruitfulness

of buds in grapes.

1) Cycocel 2) Gibberellic acid 3) Hydrogen cynamide 4) None of these

4) Imbrbn¡H$s H$moUVm dmT> {Z`m‘H$ Am°p³gZ {H«$`mH$bmnm§er ñnYm© H$aVmo Am{U hñVjon H$aVmo?
1) TIBA 2) 2 ,4-D 3) Tryptophan 4) IPA

4) Which one of the following growth regulator compete and interfere with auxin activity ?

1) TIBA 2) 2, 4-D 3) Tryptophan 4) IPA
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5) Imbrbn¡H$s H$moUVo g§àoaH$ dZñnVr ‘Ü¶o d¥ÕËd {Z‘m©U H$aVo ?
1) Am°p³gPZ 2) gm¶Q>moH$m¶{ZZ 3) B{WbrZ 4) A°~go{gH$ A°{gS>

5) Which of the following plant hormone is responsible for senescence?

1) Auxin 2) Cytokinin 3) Ethylene 4) Abscisic Acid

5) dhZ

1) ^maXñV CO A§VJ©V H$sQ>H$m§Mo dmT>bobo ZwH$gmZ, gwédmVrÀ`m h§Jm‘mV gmò m~rZ‘Ü ò {XgyZ Ambo Amho, eŠ`Vmo
nmZm§‘Ü ò dmT>boë`m EH$mJ«Vo‘wio............
1) àH$meg§íbofU 2) Šbmoamo{’$b 3) eH©$am 4) Q´m`p½bgamBS²g

1) Increased insect damage under elevated CO, has been observed in early season Soyabean, possibly

due to increased concentrations of in the leaves.

1) photosynthates 2) chlorophyll 3) sugars 4) triglycerides

2) dZñnVtMo gmIa dmhVwH$sMo H$m‘ H$moUVm KQ>H$ H$aVmo ?
a) H°$pëe¶‘ b) Am¶Z© c) ~moam°Z d) ‘°¾o{e¶‘
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (a) Am{U (b) 3) ’$º$ (c) 4) ’$º$ (c) Am{U (d)

2) In plants which element is essential for sugar transport ?

a) Calcium b) Tron c) Boron d) Magnesium

Which of the statements given above is/are correct ?

Answer Options :

1) Only (a) 2) Only (a) and (b) 3) Only (c) 4) Only (c) and (d)

6) ’$moQ>mo{n[a¶m°{S>P‘
1) Imbrb {nH$m§n¡H$s, {XdgmMr bm§~r R>am{dH$ ‘hÎdmÀ`m (12 Vmg) nojm H$‘r AgVmZm ’w$bUmar bhmZ {XdgmMr

dZñnVr H$moUVr?
1) gmIa ~rQ> 2) gỳ ©’y$b 3) gmò m~rZ 4) H$aS>B©

1)  Among the following crops, which is a short-day plant that flowers when the day length is less

than a certain critical length (< 12 hours) ?

1) Sugar beet 2) Sunflower 3) Soybean 4) Safflower

2) {d{dY ‘mJmªMm Adb§~ H$aUmè`m ........ àH$maÀ¶m dZñnVr (‘H$m, Ádmar, ~mOar, D$g) CO, Zo g‘¥Õ pñWVrg H$‘r
à{VgmX XoVmV.
1) C

1
2) C

2
3) C

3
4) C

4

2) The responses of ........ plants (maize, sorghum, millet, sugarcane) which follow different pathways

are less responsive to enriched CO, levels.

1) C
1

2) C
2

3) C
3

4) C
4
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7) namJr^dZ d A§Hw$arH$aU
1) namJrH$aUmZ§Va ’w$bmMm H$moUVm Ad¶d namJH$U A§Hw$[aV H$aÊ¶mMo H$m¶© H$aVmo?

1) Hw$jrd¥§V 2) Hw$jr 3) ~rOH$moe 4) nw§Ho$ga
1) After the transfer of pollen grains, which floral organ acts as a site for pollen tube germination ?

1) Style 2) Stigma 3) Ovary 4) Anther

8) nwZéËnmXZ
1) b¢{JH$ nwZéËnmXZm‘Ü¶o gh^mJr hmoUmè¶m ’w$bmÀ¶m {d{dY Ad¶dm§‘Ü¶o Imbrbn¡H$s H$m¶ Xþb©{jV H$aVm ¶oUma Zmhr?

1) {ZXb 2) Xb 3) XoR> 4) nw§Ho$ga
1) As per the involvement of various parts of a flower in the process of sexual reproduction, which

one of the following cannot be neglected ?

1) Sepals 2) Petals 3) Pedicel 4) Stamens

2) b¢{JH$ nwZéËnmXZ VoìhmM ¶eñdr Pmbo Ago åhUVm ¶oB©b, Ooìhm
1) namJH$U AMyH$nUo Hw$jrda nS>Vrb 2) namJZ{bH$m ~rOH$mofmV nmohMob
3) ’$im§‘Ü¶o ~rOYmaUm hmoB©b 4) O¡{dH$ KQ>H$ namJrH$aUmV gh^mJr Agob

2) The process of sexual reproduction is said to be successful only when

1) Pollen grains land perfectly on the stigma 2) The pollen tube reaches the ovary

3) There is formation of seeds in fruit 4) A biotic agency is involved in pollination

3)  ’$i CËnÞ Z H$aUmè¶m PmS>mbm H$m¶ åhUVmV ?
a) AH$mn©g b) CnOmD$ c) nmoH$mn©g d) n{W©ZmoH$mn©g
darbn¡H$s H$moUVm n¶m©¶ / n¶m©¶o ~amo~a Amho / Vo ?
1) (a) ’$º$ 2) (a) Am{U (b) ’$º$ 3) (b) Am{U (c) ’$º$ 4) (d) ’$º$

3) A plant that does not produce fruit is called as ...........

a) acarpous b) fertile c) apocarpus d) parthenocarpus

Which of the option/s given above is/are correct ?

1) (a) only 2) (a) and (b) only 3) (b) and (c) only. 4) (d) only

4) hoQ>oamo{gg `mÛmao {Z{íMV Ho$bo OmD$ eH$Vo :
A) dZñn{VOÝ` àgma ~) A°nmo{‘pŠgg
~) ZamMr ZnwgH$Vm S>) g§Vw{bV àmUKmVH$ àUmbr
n¶m©¶r CÎmao :
1) (A) Am{U (~) ’$º$ 2) (A) Am{U (H$) ’$º$ 3) (A), (H$) Am{U (S>) 4) (A), (~) Am{U (d) ’$º$

4) Heterosis can be fixed through :

a) Vegetative propagation b) Apomixis

c) Male sterility d) Balanced  lethal system

Answer Options :

1) (a) and (b) only 2) (a) and (c) only 3) (a), (c) and (d) 4) (a), (b) and (d) only
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9)  nU©g§̂ ma, ’w$bo, ’$iYmaUm
1) hdm‘mZmÀ`m KQ>H$m§À`m à{VgmXmV PmS>m§‘Ü ò nU©g§̂ ma, ’w$bo, ’$iYmaUm BË`mXtÀ`m {dH$mgmVrb h§Jm‘r ~Xbm§gmR>r

dmnabm OmUmam eãX ................ Amho.
1) OrZmobm°Or 2) ’o$Zmobm°Or 3) BH$mobm°Or 4) ’$m°aoñQ´r

1) The term used to refer to the seasonal changes in the development of foliage, flowering, fruiting,

etc. in trees in response to climatic factors is ................

1) Genology 2) Phenology 3) Ecology 4) Forestry

2) {Obo{Q>Zg grS> H$moQ> ................ ‘Ü ò CnpñWV Amho.
1) bm°a°ÝWg 2) Hw$ñHw$Q>m 3) pñQ´Jm 4) Amoamo~±Mo

2) Gelatinous Seed Coat is present in ................

1) Loranthus 2) Cuscuta 3) Striga 4) Orobanche

CÎmao - (7) dZñnVtMo  M¶mnM¶Z

1) àH$meg§íbofU
1-3 2-2 3-3 4-1 5-1 6-4 7-4

2) dZñnVr ídgZ

1-2 2-2

3) ~mînmoËgO©Z
1-4

4) g§àoaHo$
1-2 2-4 3-1 4-1 5-4

5) dhZ
1-3 2-3

6) ’$moQ>mo{n[a¶m°{S>P‘
1-3 2-4

7) namJr^dZ d A§Hw$arH$aU
1-2

8) nwZéËnmXZ
1-4 2-3 3-1 4-4

9)  nU©g§̂ ma, ’w$bo, ’$iYmaUm
1-2 2-1
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(8) dZñnVtMo AmOma - {nH$mdarb amoJ, H$sS> d VUZmeHo$
1) {nH$mdarb amoJ d H$sS>
2) dZñnVr amoJ ì`dñWmnZ-H$sQ>H$ZmeHo$

1) {nH$mdarb amoJ d H$sS>
1) dZñnVrÀ`m EH$ qH$dm A{YH$ Amdûm`H$ H$m`mª‘Ü ò hñVjon Ho$ë`m‘wio amoJmg H$maUr ŷV R>aUmè¶m EImÚm naOrdmÀ¶m

j‘Vog ......... åhUVmV.
1) naOrdZ 2) A{VnaOrdrnUm 3) amoJOZH$Vm 4) A{g‘~m`mo{Q>H$

1) Which of the following is the ability of Parasite to interfere with one or more of the essential

functions of the plant thereby causing disease ?

1) Parasitism 2) Hyperparasitism 3) Pathogenicity 4) Asymbiotic

2) Imbrbn¡H$s dZñnVtMo amoJ d Ë¶m§Mo H$maH$Ord ¶m§Mr A¶mo½¶ OmoS>r AmoiIm.
       dZñnVr amoJ       H$maH$ Ord
1) qb~ydJu¶ H±$H$a PmÝWmo‘moZmg {gQ´>m¶
2) Jìhmdarb Vm§~oam np³g{Z¶m J«°{‘Zrg {Q´>Q>rgm¶
3) ~mOardarb AaJQ> gaH$moñnmoam nagmoZ°Q>m
4) D$gmMm bmb Hw$O amoJ H$mo{bQ>moQ´>m¶H$‘ ’$ëH°$Q>‘²

2) Identify the wrong pair of plant disease and it’s causal organism.

Plant disease Causal Organism

1) Citrus canker Xanthomonas citri

2) Rust of Wheat Puccinia graminis tritici

3) Ergot of bajra Cercospora Personata

4) Red rot of sugarcane Colletotrichum fulcatum

3) ^mVmdarb I¡am hm amoJ H$moUË¶m gyú‘nmofH$ KQ>H$m§À¶m H$‘VaVo‘wio hmoVmo?
1) H$m°na 2) gmoS>r¶‘ 3) qPH$ 4) ‘m°{bãS>oZ‘

3) Khaira disease of rice is developed due to the deficiency of which micronutrient ?

1) Copper 2) Sodium 3) Zinc 4) Molybdenum

4) H$m§Xm Am{U bgUmMo ZwH$gmZ H$aUmè`m H$sQ>H$mMo Zmd gm§Jm.
1) H$mim nV§J 2) ~J 3) {W«ßg 4) gm° âbm`

4) Name the following pest which damages Onion and Garlic.

1) Black moth 2) Bug 3) Thrips 4) Saw fly

5) Imcrcn¡H$s H$moUVr H$maH$Ord Jìhmdarc Vm§~oam amoJmgmR>r H$maUr ŷV Amho ?
1) np³g{Z¶m J«m‘rUr {Q´>Q>rH$m¶ 2) P±Wmo‘moZmg {gQ´>m¶
3) np³g{Z¶m nanyar¶m 4) ßcmP‘monmoam pìhQ>rH$moc

5) Which of the following is the causal organism of Wheat Rust disease ?

1)  Puccinia graminis tritici 2)  Xanthomas citri

3)  Puccinia purpurea 4)  Plasmospora viticola
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6) ''Abu ãbmBQ> Am°’$ nmoQ>°Q>mo/Q>mo‘°Q>mo '' hm amoJ ........ `m‘wio hmoVmo
1) Ascomycetes SPP 2) Alternaria SPP 3) Lirula SPP 4) Rhizosphora SPP

6) Early blight of potato and tomato is caused by ..........

1) Ascomycetes SPP 2) Alternaria SPP 3) Lirula SPP 4) Rhizosphora SPP

7) Imbrbn¡H$s H$moUVr H$sS> H$mob {nH$m§da h„m H$aVo?
1) ‘obr~J 2) E°{’$S> 3) nm§T>ar ‘mer 4) ~waer

7) Which of the following pests attacks cole crops ?

1) Mealybug 2) Aphid 3) Whitefly 4) Fungus gnat

8) H$sQ>H$ Aù`m. H$mhr ’w$bnmIao Am{U nV§Jm§Mo {Z §̀ÌU gyú‘OrdmÀ`m ‘XVrZo CÎm‘ àH$mao Ho$bo OmVo Ogo H$s ...... .
1) Ectocarpus secundes 2) Marchantia simlana

3)Bacillus thuringiensis 4) Cladonia rangiferina

8) The insect larvae. of certain butterflies and moths are best controlled with the help of a microbe

such as ...... ......

1) Ectocarpus secundes 2) Marchantia simlana

3) Bacillus thuringiensis 4) Cladonia rangiferina

9) Imbrbn¡H$s EHy$U ñQ>o‘ naOrdr H$moUVm Amho?
1) Hw$ñHw$Q>m 2) pñQ´Jm 3) Amoamo~«m§M 4) bm°a°ÝWg

9) Which of the following is total stem parasite ?

1) Cuscuta 2) Striga 3) Orobranche 4) Loranthus

10) H$moUVo amoJ gm‘mÝ`V: dZñnVt‘Yrb nmÊ`mÀ`m ñWmZm§VamV ì`Ë`` AmUVmV?
1) nmZmda {R>nHo$ 2) {dëQ²g 3) ñ‘Q²g 4) J§O

10) Which diseases generally interfere the translocation of water in plants ?

1) Leaf spots 2) Wilts 3) Smuts 4) Rusts

11) B§Q>a ìhoZb ³bmoamo{gg ho dZñnVtÀ¶m nmZmda H$moUË¶m KQ>H$mÀ¶m H$‘VaVo‘wio {XgyZ ¶oVo?
1) Zm¶Q´>moOZ 2) H°$pëe¶‘ 3) ~moam°Z 4) Am¶Z©

11) Deficiency of which element causes inter veinal chlorosis in leaves of plant ?

1) Nitrogen 2) Calcium 3) Boron 4) Iron

12) nmZm§Mo ~aJS>o qH$dm bd{MH$Vm ho ................ amoJmMo d¡{eï²>`nyU© d¡{eï²>` Amho.
1) ZmaimÀ`m ‘wim 2) Jwbm~mMm H$mim S>mJ 3) S>mqi~mMo VobH$Q> S>mJ 4) g§dhZr {dëQ²g

12) Ribbing of leaflets or flaccidity is a typical character of ................ disease.

1) Root Wilt of Coconut 2) Black Spot of Rose

3) Oily Spot of Pomegranate 4) Vascular Wilts

13) H$mhr PmS>m§‘Ü¶o Vm§ã¶mÀ¶m H$‘VaVo‘wio gmbrda ’$moS> d Imobda VwH$S>o nSy>Z Ë¶mVyZ qS>H$ ~mhoa ¶oVmo. Aem amoJmbm ......
åhUVmV.
1) E³Pm§{W‘ 2) nm§T>am S>moim 3) S>m¶~°H$ 4) noer‘¥V hmoUo
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13) In some trees, copper deficiency may cause blisters and deep slits in the bark from which exudes

gum. This disease is known as

1) Exanthema 2) White bud 3) Dieback 4) Necrosis

14) "{Q>¸$m" (Tikka) amoJmMm àmXþ̂ m©d Imbrbn¡H$s H$moUË¶m {nH$mg hmoVmo ?
1) H$nmer 2) Jhÿ 3) ŵB©‘yJ 4) ^mV

14) "Tikka" disease affects which one of the following crops ?

1) Cotton 2) Wheat 3) Groundnut 4) Rice

15) Iarn h§Jm_mV ÁdmarMr noaUr C{eam Pmë`mg _w»`Ëdo H$ê$Z ...... {H$S>tMm àmXþ̂ m©d OmñV hmoVmo.
1) ImoS> _mer 2) ImoS> {H$S>m 3) ‘rO _mer 4) nm§T>ar _mer

15) Under late sown conditions Kharif Jowar is more infested with ......

1) Shoot fly 2) Stem borer 3) Midge fly 4) White fly

16) Amnë`m amÁ`mVrc H$mOydarc gdmªV KmVH$ H$sS> ........... Amho.
1) H$mOydarc VwS>VwS>m 2) H$mOy nmoIaUmar Air
3) H$mOydarc T>oH$Ê`m (Q>r _m°ñH$sQ>mo) 4) e|S>m nmoIaUmar Air

16) The most serious pest of cashewnut is ...... in our State.

1) Cashew hopper 2) Cashew borer 3) Tea mosquito 4) Shoot borer

2) dZñnVr amoJ ì`dñWmnZ - H$sQ>H$ZmeHo$
1) ^maVmVrb V¥UYmÝ` Vm§~oam/J§OamoJmÀ`m g§emoYZmV ........... ¶m§Zr ‘hÎdnyU© `moJXmZ {Xbo.

1) ‘w§S>Hy$a 2) ZmJamOZ 3) nm`H$ E‘. E‘. 4) ‘ohVm H$. gr.
1) Significant contribution of disease cycle of cereal rust in India was made by

1) Mundkur 2) Nagarajan 3) Payak M. M. 4) Mehta K. C.

2) 1969 ‘Ü ò n{hbm g§JUH$ {gå ẁboeZ àmoJ«°‘ H$moUË`m dZñnVr amoJ ‘hm‘marda V`ma H$aÊ`mV Ambm?
1) ŵB©‘wJmÀ`m nmZmda C{eam òUmar S>mJ 2) Q>mo‘°Q>mo Am{U ~Q>mQ>çmbm bdH$a òUmam Ìmg
3) Q>mo‘°Q>mo Am{U ~Q>mQ>çmMm C{eam hmoUmam àH$mon 4) ŵB©‘wJmMm àma§{^H$ Q>ßnm

2) On which plant disease epidemics the first computer simulation programme was prepared in

1969 ?

1) Late leaf spot of groundnut 2) Early blight of tomato and potato

3) Late blight of tomato and potato 4) Early ieaf spot of groundnut

3) EImÚm MmMUr à¶moJmV H$sQ>H$m§À`m 50% bmoH$g§»¶og ‘maÊ`mgmR>r Amdí`H$ Agboë¶m H$sQ>H$ZmeH$mÀ`m à‘mUmbm
...... åhUVmV.
1) RL50 2) LD50 3) 150 4) KD50

3) The concentration of insecticide required to kill 50% test population experiment of insect is

called as ......

1) RL50 2) LD50 3) 150 4) KD50
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4) ‘wim Am{U gbJ‘ `mdarb nm§T>am J§O ’$dmaUrÛmao {Z §̀{ÌV Ho$bm OmVmo.
1) 0.02% H$m°na gë’o$Q> 2) 0.20% S>m`WoZ PoS>-78 3) {PZo~Mo 0.20% 4) 2% ‘°ÝH$moPo~

4) White rust on radish and turnip are controlled by spraying ......

1) 0.02% Copper Sulphate 2) 0.20% Dithane Z-78

3) 0.20% of Zineb 4) 2% Mancozeb

5) dZñnVr amoJ ì`dñWmnZmgmR>r 1963 ‘Ü ò ìh°Z S>oa ßb±H$Zo {Xbobm X = X0ert `m gyÌmVrb X0 Amho -
1) g§gJ© Xa 2) A§{V‘ Vrd«Vm
3) àma§{^H$ BZmoHw$b‘ 4) amoJmÀ`m {dH$mgmMm H$mbmdYr

5) The X0 in formula X = X0ert given by Van der Plank in 1963 for plant disease management is -

1) Infection rate 2) Final severity

3) Initial inoculum 4) Duration of disease development

6) nm`aoW«rZ Am{U n°S>mo‘-E ...... AmhoV.
1) qgWo{Q>H$, g|{Ð` H$sQ>H$ZmeHo$ 2) AO¡{dH$ H$sQ>H$ZmeHo$
3) Z¡g{J©H$, g|{Ð` H$sQ>H$ZmeHo$ 4) darbn¡H$s H$moUVohr Zmhr

6) Pyrethrine and Padom-A are ......

1) Synthetic, Organic insecticides 2) Inorganic insecticides

3) Natural, Organic insecticides 4) None of the above

CÎmao - (8) dZñnVtMo AmOma - {nH$mdarb amoJ, H$sS> d VUZmeHo$

1) {nH$mdarb amoJ d H$sS>
1-3 2-3 3-3 4-3 5-1 6-2 7-2 8-3 9-1 10-2

11-4 12-1 13-1 14-3 15-1 16-3

2) dZñnVr amoJ ì`dñWmnZ - H$sQ>H$ZmeHo$
1-4 2-2 3-2 4-4 5-3 6-3


